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Question Number : 1 Question Id : 7532294451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the following words as per order in the dictionary:
Preempt-12, Precede-13, Prefect-14, Prebend-15, Precise-16

Options :

1. ¥ 15-13-16-12-14
2. % 15-14-16-12-13
3. % 15-14-12-16-13
4. % 15-16-13-14-12

Question Number : 1 Question Id : 7532294451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Al Xsal Pl UsaHIRT & HH & SR AR Bx:
Preempt-12, Precede-13, Prefect-14, Prebend-15, Precise-16
Options :

1. ¥ 15-13-16-12-14

2. % 15-14-16-12-13

3. % 15-14-12-16-13

4, % 15-16-13-14-12

Question Number : 2 Question Id : 7532294452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following letter series.
FXDP, PFXD, DFPX, XDPF

Options :

1. % XDPF
2. ¥ DFPX
3. # PFXD
4. % FXDP

Question Number : 2 Question Id : 7532294452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad seR sRaar & 7ad g I1d a |
FXDP, PFXD, DFPX, XDPF

Options :

1. # XDPF

2. % DFPX

3. * PFXD

4. % FXDP

Question Number : 3 Question Id : 7532294453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. # Cake
2. % Pastry
3. % Tart
4. ¥ Soup

Question Number : 3 Question Id : 7532294453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed & 9 & Te Ay e I 90 § | 8TalD, Uh fAwed o1 9 & de -Te] ¢ | 39 [aded &1 78 &3 oIl 3 4 3T |
Options :

1. % B

2. % UL

3. % TC

4.« U

Question Number : 4 Question Id : 7532294454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Royal Challengers : Bangalore :: Sunrisers : ?

Options :

1. % Chennai
2. ¥ Hyderabad
3. % Punjab

4. # Rajasthan

Question Number : 4 Question Id : 7532294454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fasred &1 999 A ST R Ue J I UHR ¥ Ja&fd § oy R ¥ k1 Ue Ugd Ue § Yafdd 7
WW:W::W:?

Options :

1. %I93

2. ¥ gIETE

3. % Ood

4. % ORI

Question Number : 5 Question Id : 7532294455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Mja:alM :: Xsp: ?

Options :

1. % Sxp

2. % pXs

3. # pSx.

4. ¥ pSX

Question Number : 5 Question Id : 7532294455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ gOR1 UG Ugd Ug ¥ Hafed g

Mja:alM :: Xsp : ?
Options :
1. # Sxp
2. % pXs
3. % pSx.
4. ¥ pSX




Question Number : 6 Question Id : 7532294456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If'GRAVITY"' is written as 'TYTVGAR', then how 'BLOGGER' be written in that code language?
Options :

1. ¥ GBREGLO

2. % GERBGOL

3. % GOLGREB

4. ¥ GREGBOL

Question Number : 6 Question Id : 7532294456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 'GRAVITY' B TYTVGAR' & = H forar a1 g, af 3 SIS U H 'BLOGGER' &1 3 feraT SITE?
Options :

1. ¥ GBREGLO

2. ¥ GERBGOL

3. ¥ GOLGREB

4. ¥ GREGBOL

Question Number : 7 Question Id : 7532294457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six friends Pankhudi, Karim, Raman, Suman, Tushar, Utkarsh are sitting in a row facing north. Pankhudi, Karim and Raman are sitting at
alternate places from left to right in that order. Tushar is sitting at the extreme right. Suman is towards the right with respect to Karim, but left
with respect to Raman. Who is sitting at the second place from the left?

Options :

1. ¢ Utkarsh
2. # Pankhudi
3. # Karim
4. % Tushar



Question Number : 7 Question Id : 7532294457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 {3 TR Sl, H8W, IH, YA, TUR, SH U A B SR DI 3R T b 96 g | TGS, HH MR T 3 A H 914 I qT¢ dhfdd
QMR 96 & | TR UHEH al¢ 961 ¢ | HH & T H A T4 3R §, Afte1 T & Taf T a7 3R g1 9T G¥R I IR DI 901 82

Options :

1. ¢ 3Py
2. % TSl
3. % B
4. % qUR

Question Number : 8 Question Id : 7532294458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kabir said to Sameer, "Dilip is the only son of my father's only daughter". How is Dilip related to Kabir?
Options :

1. ¥ Daughter of Kabir's sister

2. % Son of Kabir's sister

3. % Son

4. % Brother

Question Number : 8 Question Id : 7532294458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIR F THR T FaT, "faciy W rar ot ghard T 1 sharar I g | foeiy Fflk @ H8 gefda g2

Options :
1. ® HER DI UGt
2. ¢ HER BT HiST
3. % 4F
4. % U



Question Number : 9 Question Id : 7532294459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight friends A through H sit around a circular table facing towards the centre. A, B and C sit at alternate positions in the same order in
clockwise direction. D can't sit adjacent to any of C, B, or A. E can't sit adjacent to D. F sits opposite E and is not adjacent to A. G and H sit
opposite to each other. Who is definitely not sitting to the immediate right of A?

Options :
1. * G
2. % H
3. ¥E
4. % D

Question Number : 9 Question Id : 7532294459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

313 I A § H I T JATHR HS & ORI 3R % B 3R TF IXP 98 ¢ | A,B 3R C S0Tad o= & THH HH H dhicdd R A 66
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TR & Y d6d § | DI AT ST A & 3 < T 781 93182

Options :

1. %G

2. % |

3.¥E

4. %D

Question Number : 10 Question Id : 7532294460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the
statements are true, analyze the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.

Statement I; Some hair oil are conditioners.
Statement II: All conditioners are sachets.
Statement I1I: Some sachets are plastic packs.



Conclusion I: Some hair oil are plastic packs.
Conclusion II: Some hair oil are sachets.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. # Neither I nor II follows

Question Number : 10 Question Id : 7532294460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H, I w5 fau T 8, o a1e & s 1 8fR 11 fau 7T § | 98 7d 8T i &y & it SRR 9 8, & et &1 U 9y
faRayor & SR il B f T = T <1 715 STHeR 8 9 1 off difhes w0 I 3R Y ©0 ¥ SI¥R0 &-dl (@34) 7|

HYT FD P dd HoIR g |
U 11 Ot HERMR IR B
Y 1I: TS U W U g
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Options :

1. % Had [ SR Hal §

2. ¢ HaAd 11 3R BT 3

3. % [ 3R 1 G AR o’ §

4, % FAN 1SR TE 11 STER0 BT §

Question Number : 11 Question Id : 7532294461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the

statements are true, analyze the two conclusions together and determine whether any of them logically and definitely follow(s) from the
information given in the statements.



Statement I: Some musicians are stage performers.
Statement II: All stage performers are actors.
Statement III: No actors are painters.

Conclusion I: Some musicians are actors.
Conclusion II: Some painters are stage performers.

Options :

1. ¥ Only I follows

2. % Only II follows

3. % Both I and II follows
4. #* Neither I nor II follows

Question Number : 11 Question Id : 7532294461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had [ IR0 Hal §

2. % I I1 TRV BT §

3. % [ 3R 1 ST SFERUI &R §

4. % FN 1SR TSI SFER0 BT §

Question Number : 12 Question Id : 7532294462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Numbers in the following question have been arranged according to an identical pattern. Find out the missing number.



Options :
1.¥ 114
2. % 98
3. % 52
4. % 106

Question Number : 12 Question Id : 7532294462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad wer o Teamsi &1 U HM Uer & S8R afeyd fordr 711 § | e IveaT J1d He

Options :
1.¥ 114
2. % 98
3. % 52
4. % 106

Question Number : 13 Question Id : 7532294463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Numbers in the following question have been arranged according to an identical pattern. Find out the missing number.

Options :
1.*9
2.¥ 3
3.% 8
4. % 4

Question Number : 13 Question Id : 7532294463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & sl & ue TuH Yo & SUR SgafRyd farar T 8 | Jud e J1d He |

Options :
1.* 9
2.¥3
3.% 8
4. % 4



Question Number : 14 Question Id : 7532294464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following diagram, the triangle represents Chartered Accountants, the circle represents teachers and the rectangle represents entrepreneurs.
Which region represents Chartered Accountants who are teachers but not entrepreneurs?

Options :
1. %]
2. % M
3. 9X
4. % L

Question Number : 14 Question Id : 7532294464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad sma &, Ay ads Terdde &1 Ui odl 8, ga f1emp! &1 ufaffeid SR § 8k Smud Ieftl o1 ufafAfda Har gl
DI T 8F TS ThTIe ey HT YA HRT g off R § dfcb STl gl 82




Options :
1. %]
2. % M
3.¥X
4. % L

Question Number : 15 Question Id : 7532294465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ranjan started from a point and started moving in the North-East direction for SKm. Then he turned 90 degrees towards his right and walked for
another 5Km. He then started walking straight towards South for another 5Km. In which direction is he from the starting position?

Options :
1. # South West
2. # North East
3. % South East
4. ¥ East

Question Number : 15 Question Id : 7532294465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o U foig O Y& Bl § 3R SKm TP IR-Jd (= & a1 L= HRell ¢ | R a8 90 TSI oot g 3R T 3R skm iR 7| iR
a8 WY & o 3R SKm 3R I 1| 98 RIS fRufa 3 forw fa=m & g2

Options :

1. ® gféorafgy
2. % IR Y™

3. ¢ SlaTgd
4. % 4d

Question Number : 16 Question Id : 7532294466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bajoria started walking 10 Km in the South direction. He then turned right and moved another 10 Km. He then turned right and moved for 20Km.



In which direction from the starting point is he standing?
Options :

1. ¥ North West

2. # South West

3. % West

4. % North East

Question Number : 16 Question Id : 7532294466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 7 femr fe=m & 10 Km Ia1 = fovan | fR 98 ¢ 43T 3R 10 Km 3R @] fhR 98 3¢ 43T 3R 20 Km IaT| 98 3RS foig 9
forg fean o @wer @2

Options :

1. ¢ IR UEH

2. % Glarr uigy

3. % Ufgy

4. % IR

Question Number : 17 Question Id : 7532294467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the fourth figure on the same basis as the first figure is related to the second figure.

Options :
1. % Image A



2. * Image B

3. ®* Image C

4. ¥ Image D

Question Number : 17 Question Id : 7532294467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faded o7 7o 3 o At STHfa T I IR I Haiftrd 8 oy TepR ¥ uget Sdhfd gasl siidpfa ¥ Tafid ]




Options :

1. % Bfd A

2. % BfAB

3. % BfdC

4.« 3D



Question Number : 18 Question Id : 7532294468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % Image A

2. # Image B

3. ¥ Image C

4. # Image D



Question Number : 18 Question Id : 7532294468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau e fywedt & § &t fAfd a8 g B gTaiies, T fdshey 3 fiF o1 avg 7181 8| 3 fadhey &1 9a 3 o 3  3erT g

Options :

1. % BTA

2. % BAB

3. ¢ BfAC

4. % BAD



Question Number : 19 Question Id : 7532294469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded.

Options :
1. ¥ Image A

2. ¥ Image B

3. % Image C

4. # Image D



Question Number : 19 Question Id : 7532294469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1TE FW SHiadl § F, 9 pfa 1 9 B Ford vy eepfa afafa 71

Options :

1. % BTA

2. ¥ BAB

3. % A C



4. % BAD

Question Number : 20 Question Id : 7532294470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure(without rotating) is embedded.

Options :
1. % Image A

2. % Image B



3. ®* Image C

4. ¥ Image D

Question Number : 20 Question Id : 7532294470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3P 7 F, I SMpTa BT 79 B o g 3l (g fomm gfafga B

Options :

1. % BTA



2. % BfAB

3. % Bfdc

4. ¢ BAD
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Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 753229271
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532294471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bibi Ka Magbara, the tomb of Aurangzeb's wife is located in

Options :

1. ®* Agra

2. ¥ Aurangabad
3. #* Daultabad

4. # Fatehpur Sikri



Question Number : 21 Question Id : 7532294471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dist BT ABaRT, RIS P Ul BT HHERT T fRa gl
Options :

1. % 3RT

2. ¢ NTETG

3. % Qldmeg

4. % HAgR Al

Question Number : 22 Question Id : 7532294472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The surbahar is a type of instrument.

Options :

1. # keyboard
2. # aerophone
3. % stringed

4. # percussion

Question Number : 22 Question Id : 7532294472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IREER Th UHR & e
Options :

1. % Biale

2. % X[

3. ¢ ddar™

4, % dIcldle]

Question Number : 23 Question Id : 7532294473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which year was The Fiscal Responsibility and Budget Management Act passed in India?
Options :

1. % 1996

2. % 1998

3. % 2000

4.+ 2003

Question Number : 23 Question Id : 7532294473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA T AFH N ITRETAG R Foic Tee Hffam fg oo & uikd fasan mar ur
Options :

1. *® 1996

2. % 1998

3. % 2000

4. % 2003

Question Number : 24 Question Id : 7532294474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Budget Speech of 2021-22, the Finance Minister announced the allocation of towards National Research Foundation (NRF)
over a period of five years.

Options :

1. #* INR 40,000 Crore
2. % INR 46,000 Crore
3. ¥ INR 50,000 Crore
4. ® INR 56,000 Crore

Question Number : 24 Question Id : 7532294474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



2021-22 & Soc WU H, o #3it = Uie auf &1 3rafdl # AP U™ BrdsTH & for & 3fTde BI UTyuN 1 |
Options :

1. % INR 40,000 RIS

2. % INR 46,000 PRIS

3. ¢ INR 50,000 RIS

4. % INR 56,000 RIS

Question Number : 25 Question Id : 7532294475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Vascular plants that possess special characteristics like fruits and flowers are called
Options :

1. ¥ angiosperms
2. % gymnosperms
3. * bryophytes

4. % thallophytes

Question Number : 25 Question Id : 7532294475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tag urey 5 %a 3R Bo 9 Ay U g €, 3% HET G|
Options :

1. ¢ 3fTaaioll

2. % 3HTGAsIGI

3. % SRThTSel

4. % IABISCT

Question Number : 26 Question Id : 7532294476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following elements found in the human body is often called the key/universal building block of life?



Options :

1. % nitrogen
2. % hydrogen
3. % oxygen
4. ¥ carbon

Question Number : 26 Question Id : 7532294476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 TRR & UTE S arat FafaRad & 9 & 9 Tferic i 3R siiad &1 ot /ArdHiftie o ©s &g1 Sirdl 82
Options :

1. % 1S

2. ¥ gIEgIoH

3. % SRSt

4. PIE

Question Number : 27 Question Id : 7532294477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a redox (oxidation-reduction) reaction?
Options :

1. % Rusting

2. % Hydration

3. ¥ Combustion

4. % Lightning

Question Number : 27 Question Id : 7532294477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad § ¥ o 91 IS (3Taiieul-31gay) SHfifepar 78 82

Options :



1. % S

2. ¢ S
3. % ggd
4. % gied

Question Number : 28 Question Id : 7532294478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the highest peak among the following?
Options :

1. # Chaukhamba

2. % Hardeol

3. % Saser Kangri

4. ¢ Kamet

Question Number : 28 Question Id : 7532294478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofaRad o 9 9e9 St At HF A g2
Options :

1. % IRgra

2. % B

3. % GW BRI

4. BT

Question Number : 29 Question Id : 7532294479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following peaks is not located in Uttarakhand?
Options :

1. % Hardeol



2. * Nanda Devi
3. % Kangto
4. % Kamet

Question Number : 29 Question Id : 7532294479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad 5 3 o 9 91 SwRrds § fRud 78 82
Options :

1. % geId

2. % Harqdl

Il

4. % DA

Question Number : 30 Question Id : 7532294480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kishtwar Himalayas is located in which of the following states/union territories?
Options :

1. # Uttarakhand

2. % Jammu and Kashmir

3. % Assam

4. % Arunachal Pradesh

Question Number : 30 Question Id : 7532294480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 fa Isu/dbg i yewr § feedars feamey fRa g2
Options :

1. ® RIS

2. ¢ S 3R HER




3. % 3y
4. % 3BUMTA U QT

Question Number : 31 Question Id : 7532294481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Third Battle of Panipat was fought between the Maratha empire and a Muslim coalition army led by

Options :

1. # Timur Shah Durrani

2. # Shah Shujah Durrani
3. % Ahmad Shah Durrani

4. % Zamar Shah Durrani

Question Number : 31 Question Id : 7532294481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UHIT 1 IR g FR1GT HIHTod 3TR & Icd H GIETH TSEYT A1 b S ST T AT
Options :

1. % QTR =8 g

2. % 18 il gt

3. ¥ 3EHE TG AT

4. % SR M8 QR

Question Number : 32 Question Id : 7532294482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ashta Pradhan was a system of ministerial delegation formalised by which ruler?
Options :

1. % Baji Rao I

2. % Balaji Vishwanath

3. # Rajaram |



4. ¥ Chhatrapati Shivaji Maharaj

Question Number : 32 Question Id : 7532294482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o R GRT 3T YT, SHUEIRS U ¥ B gfafFfidsa &1 yomet ot
Options :

1. % STSIRTE YUH

2. % STcrel fayry

3. % YNIRTHUYH

4. ¢ AU FRrareit HeRTS

Question Number : 33 Question Id : 7532294483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Kushans were ethnical descendants of the people.
Options :

1. % Aryan

2. ¥ Yuezhi

3. # Greek

4. % Persian

Question Number : 33 Question Id : 7532294483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pl NUEZEIGRERER]
Options :

1. % 3

2.« gugit

3. ® gAML

4. % BRI



Question Number : 34 Question Id
Orientation : Vertical

: 7532294484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who among the following was the first Chief Justice of India?

Options :

1. # Hon’ble Mr. Justice M. Patanjali Sastri

2. ¥ Hon’ble Mr. Justice Harilal Jekisundas Kania
3. % Hon’ble Mr. Justice Mehr Chand Mahajan

4. ® Hon’ble Mr. Justice Bijan Kumar Mukherjea

Question Number : 34 Question Id
Orientation : Vertical

: 7532294484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fafied o 9 &1 YRd & Ugd T raneier

Options :

1. % A o o O, adTel St

2. ¢ A o AR gRATd S g-a =T

3. % A ot =AraHfd AeRdg AgTo

4. % AT R foo AR gEsion

Question Number : 35 Question Id
Orientation : Vertical

: 7532294485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Who was the first Indian judge to be appointed President of the International Court of Justice?

Options :

1. ¥ Dr Nagendra Singh
2. % Dalveer Bhandari
3. ¥ B.N. Rau

4. ® R.S. Pathak

Question Number : 35 Question Id

: 7532294485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RIS TaTerd & 3feaef o U H Fge g1 aTel Ugel HRd randie &1 42
Options :

1. ¢ S = Rig

2. % IR HeRI

3. % §1T9.3@

4. % RUTY. U[oh

Question Number : 36 Question Id : 7532294486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The supercluster of galaxies discovered by a team of Indian astronomers led by Dr Joydeep Bagchi in 2017 was named

Options :

1. % Akshaganga
2. ¥ Bhibha

3. ® Santamasa
4. ¥ Saraswati

Question Number : 36 Question Id : 7532294486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2017 H ST ST IRTH & A H YR Widtdal & U Gd gRT ol 715 HGlidbe11 o JURIReR & 14 T 4T T
Options :

1. % 3feFAT

2. % iy

3. % Faum

4. & I

Question Number : 37 Question Id : 7532294487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which year did the Supreme Court of India deem the instant Triple Talaq system unconstitutional?
Options :

1. ¥ 2017

2. % 2016

3. % 2015

4, % 2014

Question Number : 37 Question Id : 7532294487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR SAdH e + s a¥ J dehTet fg=T dae Tl $I Sriau=e HRR fadm
Options :

1. ¥ 2017

2. % 2016

3. % 2015

4, % 2014

Question Number : 38 Question Id : 7532294488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following cases did the Supreme Court of India rule that it can amend any part of the constitution except its basic structure?
Options :

1. * Champakam Dorairajan vs. The State of Madras

2. ® Golaknath vs. The State of Punjab

3. ¥ S.R. Bommai vs. Union of India

4. ¥ Kesavnanda Bharti vs. The State of Kerala

Question Number : 38 Question Id : 7532294488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford A & URdIa Swad <arrad A (ol 31 {6 a8 3iom 9o ol &1 Sied Afqu o fovd ff ffw o g=ies ax




Thdl 82

Options :

1. % FUDHH SRS FTH HER 5T
2. ® MASATY §H GoTd I

3. % TY.3R. S5 991 YR TTURT
4. ¢ HIAHG HURAT TAH Hd I

Question Number : 39 Question Id : 7532294489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramanathan Krishnan can be associated with which of the following sports?
Options :

1. % Hockey

2. ¥ Tennis

3. % Cricket

4. % Badminton

Question Number : 39 Question Id : 7532294489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA O FEfeied § 9 forg T 9 98 81 Ihd 82
Options :

1. % gl

2. ¢ Y

3. % fopape

4. % g3fHcd

Question Number : 40 Question Id : 7532294490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Indian bowlers is India's record holder for most number of wickets in T20 international cricket career as of August 2021?



Options :

1. ¥ Yuzvendra Chahal

2. % Vinay Kumar

3. # Bhuvneshwar Kumar

4. # Jasprit Bumrah

Question Number : 40 Question Id : 7532294490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffad 7 9 19 91 HRI e 3R 2021 T T20 SARIP fbde BRI H Faifies fade d o1 HRd &1 RPTe YRS &2

Options :

1. ¥ goldg a8
2. % o0 $UR
3. % YR $AR
4. % S §FR18
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Section Marks : 20
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Question Number : 41 Question Id : 7532294491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What value should come in place of question mark (?) in the following question?
1100% of 44 + 115% of 240 =7 - 24

Options :
1. % 729
2. % 841
3. % 1444
4. ¥ 784

Question Number : 41 Question Id : 7532294491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAaferfad uy o usiarae fag (2) & RIM R R A 31 Mg T?
44 PT 1100% + 240 DT 115% = ? - 24

Options :

1. % 729

2. % 841

3. % 1444

4.+ 784



Question Number : 42 Question Id : 7532294492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What value should come in place of question mark (?) in the following question?
0.495+0.05+3.6 x2.4+0.4+0.665 % 0.04 - 1.86 +0.03 x 0.15="?

Options :

1. % 11.1144
2.9 22.2266
3. % 33.3388
4. % 44.4400

Question Number : 42 Question Id : 7532294492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAgferfad uy o usarae fag (2) & RIM R 1AM 31 d1fgd?

0.495+0.05+3.6%x24+04+0.665x0.04-1.86+0.03x0.15="?
Options :

1. % 11.1144

2. % 22.2266

3. % 33.3388

4. % 44.4400

Question Number : 43 Question Id : 7532294493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers are in the ratio 3: 5: 7. If LCM of the numbers is 25200, then what is the sum of smallest and largest number?
Options :

1. % 1200

2. % 2400

3. % 3600

4. % 2880



Question Number : 43 Question Id : 7532294493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@M 3 5: 7 % ITd H € | Tfe AeAT3T &1 dTgad THIad® 25200 8, O Tad BT 3R T8 Fo! e BT AN 7 62
Options :

1. % 1200

2.9 2400

3. % 3600

4. % 2880

Question Number : 44 Question Id : 7532294494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What value should come in the place of the question mark '?' in the following question?
52%x025+13+05%x(349+3.8)+2.7+1.5+0.03="7

Options :
1. ® 51.35
2.9 5235
3. % 5335
4. % 50.35

Question Number : 44 Question Id : 7532294494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad uy © usare g & QI IR T J19 AT A1igU?
52x025+1.3+0.5x(3.49+3.8)+2.7+15+0.03=2

Options :
1. % 51.35
2.9 5235
3. % 53.35
4. % 50.35



Question Number : 45 Question Id : 7532294495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What value should come in place of question mark (?) in the following question?
(37 x 3)+ 1024 =2 - (17 x 4) + 729 - 66

Options :

1. ¥ 250

2. % 240

3. % 260

4. % 255

Question Number : 45 Question Id : 7532294495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad us # usars g (2) & RIF R &1 71 3T 91e0?
(37 % 3) + V1024 =2 - (17 x 4) + V729 - 66

Options :

1. ¥ 250

2. % 240

3. % 260

4. % 255

Question Number : 46 Question Id : 7532294496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average age of 20 men is 45 years. 10 new men of average age 30 years join them. Find the new average age of the men.
Options :

1. % 42

2.9 40

3. %55

4. % 45



Question Number : 46 Question Id : 7532294496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 T3 DI ST 3T 45 T8 g1 30 TY BT A AT P 10 T YIY 374 S & | TSN b1 T3 I 31 I Be |
Options :

1. % 42

2.9 40

3. % 55

4, % 45

Question Number : 47 Question Id : 7532294497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shyam spent Rs. 36000 on his wedding Shopping, Rs. 27000 on buying a Laptop and, he was still left with 37% of the total amount of money he
had with himself. What was the total amount?

Options :

1. ¥ Rs. 100000
2. % Rs. 90000
3. #¥ Rs. 81000
4. % Rs. 72000

Question Number : 47 Question Id : 7532294497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7 30T AT} 1 WRIGRT TR 36000 TUT T fh T, Ueh AUCTT WRie- TR 27000 ¥UT 3R, IHD IR 370 U HIGE $ 8T BT 37%
St ot & 1| et R R i

Options :

1. ¢ 100000 TUY

2. % 90000 YT

3. % 81000 SUT

4. % 72000 TUY




Question Number : 48 Question Id : 7532294498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of three fruits apple, strawberry and guava are in the ratio of 8:12:3. The price of these fruits are increased by 25%, 20% and 60%
respectively. What is the new price ratio of these fruits?

Options :

1. % 36:25:12
2. % 20:25:12
3. 9 25:36:12
4. % 25:12:36

Question Number : 48 Question Id : 7532294498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IF Tl T, TRt 3R SAEE BT eI 8 : 12 : 3 % U H g1 7 Wl & Hed H HHRT: 25%, 20% 3R 60% HI gig B T8 &1 39 Hal &l
a1 G 3UTd &1 82

Options :

1. # 36:25:12

2. % 20:25:12

3.9 25:36:12

4. % 25:12:36

Question Number : 49 Question Id : 7532294499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By selling a table for Rs. 450, Ankit gains 25%. During a clearance sale, he allows a discount of 16(2/3)% on the marked price. What is his gain
percent during the sale?

Options :

1. ¥ 4.17%
2. % 3.5%
3. % 4.5%
4, % 1.5%



Question Number : 49 Question Id : 7532294499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

450 BUT T Teh B SR, 3ifdhe Bl 25% b1 ATH g3 | bR feh (Fohear® Aet) & <R, a8 3ifebd e W 16(2/3)% B B aal g | fash
& CRTM ST AT U= a1 82

Options :

1. ¥ 4.17%

2. % 3.5%

3. % 4.5%

4. % 1.5%

Question Number : 50 Question Id : 7532294500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 56 litre mixture, the ratio of milk and water is 9:5. How much water should be added to the mixture so that the percentage of milk becomes
36%?

Options :

1. ¥ 44 litres
2. % 34 litres
3. # 48 litres
4. #® 50 litres

Question Number : 50 Question Id : 7532294500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 56 WTex [0 H g SR U BT 30T 9:5 & | THe0r § forc=1m ureit fiyeman S =i difes g8 &1 Uia=Td 36% 81 SI?
Options :

1. ¢ 44 AR

2. % 34 IR

3. % 48 IR

4. % 50 dfle”




Question Number : 51 Question Id : 7532294501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mahak and Lalita started a business by investing some money in the ratio 3 : 7. Mahak's initial capital was Rs. 18000. If Mahak withdrew Rs.
4000 at the end of 8th month, what was the profit sharing ratio between Mahak and Lalita at the end of 1st year?

Options :

1. #® 13:43
2. % 29:56
3. % 18:41
4. 25:63

Question Number : 51 Question Id : 7532294501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3R M 5 B U 3:7 P SIUT H A BReb Ueb U R febdT| HEeh D URTHD il 18000 FUT Ut | AfE HEgep 7 89 HEH b
3fd o 4000 0T FAETA, 130 a9 & 3fd T Hew 3R AferdT & oia ATH-Tg TSI SUTd T 1?2

Options :

1. % 13:43

2. % 29:56

3. % 18:41

4.9 25:63

Question Number : 52 Question Id : 7532294502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a city was 80000 two years ago. If the death rate of the city was 10% per annum then what is the present population of the
city?

Options :

1. % 72000

2. % 64800

3. ® 66800



4. %= 60800

Question Number : 52 Question Id : 7532294502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l Y UgQ U WER B ST 80000 AT Tf WER Bt Yog R 10% Hfaay off, 3 WeR &1 addH S a1 /2
Options :

1. % 72000

2. % 64800

3. % 66800

4. % 60800

Question Number : 53 Question Id : 7532294503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man can covers a distance of 90 km in 4 hours. He covers some distance by foot at an average speed of 15 km/hr and the remaining distance on
bike at an average speed of 40 km/hr, then find the distance travelled by man on foot.

Options :

1. ¥ 48 km
2.9 42 km
3. % 90 km
4. % 63 km

Question Number : 53 Question Id : 7532294503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3MTEHT 90 km 1 G 4 B¢ T T R Tl 8| T8 TS g4l 15 kny/hr BT 37T 710 I Uadl 9 BT § SR WY G 98P WR 40 ke/hr Y
3T i § F9 HRA1 |, <l SMSH gRT Igd a8 B T3 g3 J1d B |

Options :

1. % 48km

2.¢ 42 km

3. % 90 km



4. % 63 km

Question Number : 54 Question Id : 7532294504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the time taken by a man to cross a 720 m long platform and 580 m long street is 32 seconds, then find the speed of the
man in km/hr.

Options :

1. ¥ 15.75 km/hr
2. % 18.25 km/hr
3. # 21 km/hr

4. % 17.55 km/hr

Question Number : 54 Question Id : 7532294504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fdd gRT 720 m IS WEhIH 3R 580 m 6l TSP bl UR B | o I & &1 BT 3icR 32 AP S &, ol i o1 T km/he & J1d
B

Options :

1. % 15.75 km/hr

2. % 18.25 km/hr

3. # 21 km/hr

4. % 17.55 km/hr

Question Number : 55 Question Id : 7532294505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can complete a piece of work in 45 days and B can work in 90 days. If they work together, what fraction of the work can be completed in 10
days?

Options :
1. % 1/4
2.9 1/3



3. % 1/5
4. % 1/6

Question Number : 55 Question Id : 7532294505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS BT B 45 3 F R HR Faba1 g 3R B 90 fef & wrd o qohd1 |1 Tl I U 1 S v &, <l B BT o= Wi 10 TG A g1
faa o Hepall B2

Options :

1. # 1/4

2.9 1/3

3.%1/5

4. % 1/6

Question Number : 56 Question Id : 7532294506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of the length of a rectangle & side of a square is 72 m. the perimeter of a rectangle is 84 m & breadth of rectangle is 18 m. Find the side of
the square.

Options :
1.¥ 48 m
2. % 42 m
3. % 36 m
4. % 32m

Question Number : 56 Question Id : 7532294506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A B dals 3R TP o BT YT H1 AT 72 m 5 | T ST BT URHTT 84 m 3R 1A $1 AISTS 18 m g | I BT YTl J1d B |
Options :

1. ¥ 48 m

2. % 42m



3. % 36m
4. % 32m

Question Number : 57 Question Id : 7532294507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical vessel of radius 30 cm contains water up to a depth of 75 cm. A spherical iron ball is dropped into the vessel and thus the level of
water is raised by 5 cm. What is the radius of the iron ball?

Options :

1. * 17 cm
2.¥ 15¢cm
3. % 2l cm

4. % 13 cm

Question Number : 57 Question Id : 7532294507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 cm 3501 & TH SAATHR T | 75 cm D1 BT dPb UHT & | Th MATDR g P e &I ga- & FTRIIT SITdT 8 3R 39 UHR UM bl TR
5cm SR IS g Al & Tid ol BT AT B2

Options :

I. % 17 cm
2. % 15cm
3. % 21l cm

4. % 13 cm

Question Number : 58 Question Id : 7532294508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given below pie chart shows the percentage distribution of daily consumption of quantity of food packets by five different quarantine centres
in a city during COVID-19 pandemic.

Total quantity of food packets consumed in a day =21000

Note- Total quantity of food packet available = Total quantity of food packet consumed + total quantity of unused food packet

If 62.5% of the quantity of food packet available is consumed by all centres, then, find the ratio of quantity of unused food packet to the



difference of the quantity of food packet consumed by centre C and B?

Percentage distribution of daily
consumption of food packets

Options :
1. ¥ 12:5
2. % 12:7
3. % 87
4. % 10:7

Question Number : 58 Question Id : 7532294508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

:ﬂ%ﬁ%mmtrrs‘%rrc‘a%ﬁ@w TR & SR Us U8R H Ui fAfd Rers $al gRT 1o & Udre & ¢fHd Wud &1 ufazd faavor o
SRMAT 5|

T o & HIoH & Udhe &1 Hd AET =21000

& - ITAS Ui Yahe DI Hol T = ST T T HISH Ydbe HI ol T + SUga HisH Udhe S Hof A

gfe g1t Hal gRT IuT HISH Yabe Bt AT BT 62.5% ITHNT {01 51 8, A SIugad WIS Udbe &1 A &1 6% C 3R B §RT ITHNT fby




T 1S Tdhe Pt HET & 3R I S{UTd J1d B2
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wferra faawor

Options :
1. ¥ 12:5
2. % 127
3. % 8.7
4. % 10:7

Question Number : 59 Question Id : 7532294509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line-graph given below shows the production of Basmati rice(in lakh tonnes) in 5 different states in three consecutive years.
If the production of Basmati rice in Punjab in the year 2019 is 20% less than the production of Basmati rice in Bihar in the year 2019, then find



the production of Basmati rice in Punjab in the year 2019.

—=—2017 -=2018 -=—2019
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Production of Basmati rice (in lakh tonnes)
3

L=

uUp MP AP HFP Bihar
States

Options :

1. #® 60 lakh tonnes
2. % 56 lakh tonnes
3. # 52 lakh tonnes
4. % 48 lakh tonnes

Question Number : 59 Question Id : 7532294509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 60 ¢RI
2. % 56 A cH
3. % 527 cH
4, ¥ 48 G c

Question Number : 60 Question Id : 7532294510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph below shows the number of cars manufactured (in thousand) by 2 companies Tata and Mahindra over the 5 different years.
If the manufacturing of Tata cars in 1995 is increased by 12.5% from 1991 and manufacturing of Mahindra cars in 1995 is decreased by 9.09%



from 1991, then find the ratio of Tata cars manufactured in 1995 to the Mahindra cars manufactured in 1995?

ETata = Mahindra

Number of cars manufactured (in thousand)
b

aa 21

21 15

1

u -

1550 1991 1992 1993 1994
Years

Options :
1. # 16:9
2. % 117
3.4 0:16
4. % 4:13

Question Number : 60 Question Id : 7532294510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ® 16:9
2. % 117
3.9 9:16
4. % 4:13
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Question Number : 61 Question Id : 7532294511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Virtue is hardly discovered/ to be teachable when the/ discovery follows that it is not taught.
Options :

1. # Virtue is hardly discovered

2. # to be teachable when the

3. # discovery follows that it is not taught

4. ¥ No Error

Question Number : 61 Question Id : 7532294511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Virtue is hardly discovered/ to be teachable when the/ discovery follows that it is not taught.
Options :



1. # Virtue is hardly discovered

2. # to be teachable when the

3. # discovery follows that it is not taught
4. ¥ No Error

Question Number : 62 Question Id : 7532294512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

And no sooner had his/ bulk padded the stone beneath/ that Ted came, plunk!
Options :

1. # And no sooner had his

2. # bulk padded the stone beneath

3. % that Ted came, plunk!

4. ¥ No Error

Question Number : 62 Question Id : 7532294512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

And no sooner had his/ bulk padded the stone beneath/ that Ted came, plunk!
Options :

1. * And no sooner had his

2. # bulk padded the stone beneath

3. ¥ that Ted came, plunk!

4. % No Error

Question Number : 63 Question Id : 7532294513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In the past, (he spent many an hours rowing down the) River Barrow.
Options :

1. # he had spent many an hours rowing down the

2. # he spent many an hours rowing down

3. ¢ he spent many an hour rowing down the

4. ® No correction required

Question Number : 63 Question Id : 7532294513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

In the past, (he spent many an hours rowing down the) River Barrow.
Options :

1. ® he had spent many an hours rowing down the

2. % he spent many an hours rowing down

3. % he spent many an hour rowing down the

4. ® No correction required

Question Number : 64 Question Id : 7532294514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Those pretty boys will (be in here with their summon and their) papers!
Options :
1. ¥ be in here with their summonses and their

2. % be in here with there summons and their



3. * be in here with there summon and their

4. # No correction required

Question Number : 64 Question Id : 7532294514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Those pretty boys will (be in here with their summon and their) papers!
Options :

1. ¥ be in here with their summonses and their

2. ® be in here with there summons and their

3. # be in here with there summon and their

4. # No correction required

Question Number : 65 Question Id : 7532294515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The incredibly response would need a billboard, not a placard, for presentation.

Options :

1. # copious

2. ¥ convoluted
3. % craven

4. % credulous

Question Number : 65 Question Id : 7532294515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



The incredibly response would need a billboard, not a placard, for presentation.

Options :

1. # copious

2. ¥ convoluted
3. % craven

4. % credulous

Question Number : 66 Question Id : 7532294516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The tone of his voice, now soft and , startled Hardy out of his dream.
Options :

1. # derivative

2. ¥ diffident

3. % didactic

4. % desultory

Question Number : 66 Question Id : 7532294516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

The tone of his voice, now soft and , startled Hardy out of his dream.
Options :

1. # derivative

2. ¥ diffident

3. % didactic

4. % desultory



Question Number : 67 Question Id : 7532294517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In 1991, we forecasted

P. the emergence of a

Q. we then named the

R. youth, born after 1982, whom
S. new generation of American

Millennial Generation.
Options :

1. ¥ RPSQ

2. % RQSP

3. % PSRQ

4. % PRSQ

Question Number : 67 Question Id : 7532294517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

In 1991, we forecasted
P. the emergence of a
Q. we then named the

R. youth, born after 1982, whom



S. new generation of American

Millennial Generation.
Options :

1. # RPSQ

2. % RQSP

3. % PSRQ

4. # PRSQ

Question Number : 68 Question Id : 7532294518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The site of Hissarlik, in northwest Turkey, has been identified as being Troy since ancient times.

P. Van Wijngaarden notes that archaeologists have to dig deep to find remains of the first settlement and from what they can tell it was a "small
city surrounded by a defensive wall of unworked stone."

Q. "There is no one single Troy; there are at least 10, lying in layers on top of each other," writes University of Amsterdam researcher Gert Jan
van Wijngaarden.

R. Archaeological research shows that it was inhabited for almost 4,000 years starting around 3000 B.C.
S. After one city was destroyed, a new city would be built on top of it, creating a human-made mound called a "tell."

Outside the largest gate was a stone with an image of a face, perhaps a deity welcoming visitors to the new city.
Options :

1. # RPSQ

2. % RQSP

3. % RPQS

4. ¥ RSQP

Question Number : 68 Question Id : 7532294518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The site of Hissarlik, in northwest Turkey, has been identified as being Troy since ancient times.

P. Van Wijngaarden notes that archaeologists have to dig deep to find remains of the first settlement and from what they can tell it was a "small
city surrounded by a defensive wall of unworked stone."

Q. "There is no one single Troy; there are at least 10, lying in layers on top of each other," writes University of Amsterdam researcher Gert Jan
van Wijngaarden.

R. Archaeological research shows that it was inhabited for almost 4,000 years starting around 3000 B.C.
S. After one city was destroyed, a new city would be built on top of it, creating a human-made mound called a "tell."

Outside the largest gate was a stone with an image of a face, perhaps a deity welcoming visitors to the new city.
Options :

1. # RPSQ

2. % RQSP

3. % RPQS

4. ¥ RSQP

Question Number : 69 Question Id : 7532294519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

maverick
Options :

1. # radical

2. ¥ conservative

3. # bohemian

4, % extremist



Question Number : 69 Question Id : 7532294519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

maverick
Options :

1. # radical

2. ¥ conservative

3. # bohemian

4, % extremist

Question Number : 70 Question Id : 7532294520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

specious
Options :

1. ¥ deceptive
2. % valid

3. % genuine

4. % effusive

Question Number : 70 Question Id : 7532294520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

specious
Options :

1. ¥ deceptive
2. % valid



3. % genuine

4. % effusive

Question Number : 71 Question Id : 7532294521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # mordcity

2. ¥ mordacity

3. # mordicity

4. # mordeicity

Question Number : 71 Question Id : 7532294521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ mordcity

2. % mordacity

3. # mordicity

4. # mordeicity

Question Number : 72 Question Id : 7532294522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ harange

2. % gauche

3. % fallacious

4, % erudite



Question Number : 72 Question Id : 7532294522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. ¥ harange

2. # gauche

3. # fallacious

4. % erudite

Question Number : 73 Question Id : 7532294523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

An axe to grind

Options :

1. ¥ To have a dispute with someone
2. % Having to start all over again

3. % Depend on, count on

4. ¥ A mistake made in something you are trying to achieve

Question Number : 73 Question Id : 7532294523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

An axe to grind

Options :

1. ¥ To have a dispute with someone
2. # Having to start all over again

3. % Depend on, count on



4. ¥ A mistake made in something you are trying to achieve

Question Number : 74 Question Id : 7532294524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning

Do not pull all your resources in one possibility
Options :

1. # Gird up the loin

2. % Don’t pull all your eggs in one basket

3. # Fabian policy

4. % Go down like a lead balloon

Question Number : 74 Question Id : 7532294524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate idiom of the given meaning

Do not pull all your resources in one possibility
Options :

1. #® Gird up the loin

2. % Don’t pull all your eggs in one basket

3. % Fabian policy

4. % Go down like a lead balloon

Question Number : 75 Question Id : 7532294525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Incapable of making mistakes or being wrong
Options :



1. # Indelible
2.+ Infallible
3. % Inevitable
4. # Infanticide

Question Number : 75 Question Id : 7532294525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below

Incapable of making mistakes or being wrong
Options :

1. # Indelible

2. ¥ Infallible

3. % Inevitable

4. % Infanticide

Sub-Section Number : 2
Sub-Section Id : 753229274
Question Shuffling Allowed : Yes

Question Id : 7532294526 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Sometimes an animal copes with a changed situation, not by adapting to it, but by moving away from it to another location. There, it may still
have to adapt, but the type of adaptation may be easier. There are primitive races of man that have attempted to avoid the pressures or changes
that civilization brings. They have had to adjust to living in remote or harsh conditions. Examples are the pygmies of the Congo who have
escaped into the thickest jungles which are full of dangers. They have learned to obtain a living there and to cope with wild animals. African
bushmen manage to live off the arid Kalahari Desert where there is hardly any other life. Life is tough for the bushmen but they are left in peace.
These social adaptations could well lead to biological adaptations over a number of generations, but this is a very slow progress and it is unlikely
that any single person would be aware of it taking place.

Sub questions



Question Number : 76 Question Id : 7532294527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Living conditions for the Pygmies are

Options :

1. # nomadic
2. # civilized
3. % uncopiable
4. ¥ harsh

Question Number : 77 Question Id : 7532294528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which continent is Kalahari desert found in?
Options :

1. # South America

2. # Europe

3. % Asia

4. ¥ Africa

Question Number : 78 Question Id : 7532294529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which races of men have been associated with coping with a situation by changing their location?
Options :

1. % Advanced

2. % Primitive

3. # Urban

4. # Rural

Question Number : 79 Question Id : 7532294530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # Pygmies are a primitive human race.

2. % The African bushmen have learned to adapt in the harshest of jungle and coping with the wild animals.
3. # Social adaptations lead to biological adaptations over a long period of time.

4. ¥ The Kalahari desert is an arid savannah in Africa.

Question Number : 80 Question Id : 7532294531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It is stated in the passage that animals

Options :

1. ¥ sometimes change their location in order to cope with the situation rather than adapting it.
2. % always evolve to better fit into their environment.

3. # evolve in order to relocate to a new location and better cope with their situation.

4. # evolve to adapt to any situation and be better suited for that location.

Question Id : 7532294526 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Sometimes an animal copes with a changed situation, not by adapting to it, but by moving away from it to another location. There, it may still
have to adapt, but the type of adaptation may be easier. There are primitive races of man that have attempted to avoid the pressures or changes
that civilization brings. They have had to adjust to living in remote or harsh conditions. Examples are the pygmies of the Congo who have
escaped into the thickest jungles which are full of dangers. They have learned to obtain a living there and to cope with wild animals. African
bushmen manage to live off the arid Kalahari Desert where there is hardly any other life. Life is tough for the bushmen but they are left in peace.
These social adaptations could well lead to biological adaptations over a number of generations, but this is a very slow progress and it is unlikely
that any single person would be aware of it taking place.

Sub questions

Question Number : 76 Question Id : 7532294527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Living conditions for the Pygmies are

Options :

1. # nomadic
2. # civilized
3. % uncopiable
4. % harsh

Question Number : 77 Question Id : 7532294528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which continent is Kalahari desert found in?
Options :

1. # South America

2. # Europe

3. % Asia

4. ¥ Africa

Question Number : 78 Question Id : 7532294529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which races of men have been associated with coping with a situation by changing their location?
Options :

1. % Advanced

2. ¥ Primitive

3. # Urban

4. # Rural

Question Number : 79 Question Id : 7532294530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :



1. # Pygmies are a primitive human race.
2. ¥ The African bushmen have learned to adapt in the harshest of jungle and coping with the wild animals.
3. # Social adaptations lead to biological adaptations over a long period of time.

4. ¥ The Kalahari desert is an arid savannah in Africa.

Question Number : 80 Question Id : 7532294531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
It is stated in the passage that animals

Options :

1. ¥ sometimes change their location in order to cope with the situation rather than adapting it.
2. % always evolve to better fit into their environment.

3. # evolve in order to relocate to a new location and better cope with their situation.

4. # evolve to adapt to any situation and be better suited for that location.
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Question Number : 81 Question Id : 7532294532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR o et § 9, 39 fah et o1 I8 &Y Ol SXIol Ueg b1 et f[dbed gl
Options :

1. % dId

2. ¥ GIdd

3. % TR

4. % TR

Question Number : 81 Question Id : 7532294532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaa Uy & IR fawe # ¥, 39 fawey &1 7 3% ot SIS Xsg 1 Ta! fahed |
Options :

1. % AqId

2. % GdRdd

3. % 9

4. % TR

Question Number : 82 Question Id : 7532294533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faferRad Uy #, IR fadedl | 9, 39 fdaved &1 997 &< o BIgeh H AT U Weg & 3R fI601 & W arell fdebed 811
R foamsh 3 g & (T Ths) vHIH e B

Options :

1. ¢ GRHTUEIS fa=IwoT
2. % gyardae faryo

3. % T[UETI faRIVor

4. % Jeyarad [qRor

Question Number : 82 Question Id : 7532294533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et e #, IR el & 9, 39 faeed &1 997 3 ol H1¥e | AT 7T Weg & SFER A=Ivur & W aren fdeed 81|
W fOdrsh 3 g & (T The) wHiH e B

Options :

1. ¢ RATUErS fa=ivo
2. % PYardd fa=Ivor

3. % TUErA fARIVor

4. % Yaydrad fa=yor

Question Number : 83 Question Id : 7532294534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR el 5 9, 39 f9hcd o1 987 &Y & HIddT=as I3 BT gl fased 781 ]
Options :

1. % el

2. % Ul

3. % e

4. ¥ TR

Question Number : 83 Question Id : 7532294534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawed! # 9, 39 [dded &1 997 &< ol HIgarad U311 &1 el [ddbed 7ol o
Options :

1. #® deldl

2. % JUddl

3. % A

4. ¥ Tgx]

Question Number : 84 Question Id : 7532294535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeRad Uy O, IR fawedl O 4, 39 fawed &1 999 &< S DhIgedh U fU U Wsg & YR 34T & UG &I gl f[ddhed gl |
03 (vfdfe) Ugs dRal g

Options :

1. % Jdyaiyd g

2. % HTINYD Y

3. ¢ fobar faRivoT sreqy

4. % fqupaIfadIy® 3oy

Question Number : 84 Question Id : 7532294535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiRad Uy &, IR fawedl O T, 39 faded &1 o9 &< S DIy T fU 710 Wsq & YR 39T & UG &I gl [ddhed gl |
T (Ui UgTs HRaT 5

Options :

1. % JddYdiyd g

2. % FHAUSIYD 3y

3. ¢ fopa faRivoT sreqy

4. % fowrariediye sfqg

Question Number : 85 Question Id : 7532294536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A, IR fomeal 7 9, 39 I8! faded &1 T &3 SN foTU 7T Wreg & Tgt 31 &1 IfId fadpeu g1
ST

Options :
1. ¥ HgIU
2. % %g
3. % HMY
4. % Gl

Question Number : 85 Question Id : 7532294536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufafad vy 7, IR fawedl & 1, 39 I8! fadw e o1 994 3 O faT 71U eg & a1 31 o1 IfId fasweu 71|
il

Options :
1. v HgIg
2. %%
3. % M
4. % GhTl

Question Number : 86 Question Id : 7532294537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, OR fawedl § 9, 39 fawed &1 70 &L Sl Y Ueg &1 Gal fAdhea 7
Options :

1. * HAYIdH

2. HYH

3. % SYYIdH

4. % AYJdH




Question Number : 86 Question Id : 7532294537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy @, TR fowedl § 9, 39 fawey &1 999 &3 ol Y Vs &1 Ta! [dbed 7
Options :

1. % AHTdH

2.9 YIH

3. % SYIIdH

4. % AHYJdH

Question Number : 87 Question Id : 7532294538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁaﬁr@aﬂ Uy ¥, IR fadmeul & 4, 39 U8 faded &1 7= &3 off 4T U Weg-H & ot Y &1 3frd fawed g1
qul-

Options :

1. % foF7-31&R

2. % JAR

3.« YIa-J]

4. % grg-fgo

Question Number : 87 Question Id : 7532294538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wu&ﬁ,mﬁﬁﬁ@r,wa@i&wwmqqﬂﬁﬁﬁﬁnwﬁl&’-w%ﬂﬁa{ﬁwsﬁﬁﬁwﬁl
qul-

Options :

1. % faH1-31&R

2. % {AR

3. ¢ YIa-7

4. % grg-fg=n




Question Number : 88 Question Id : 7532294539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN 9190 & &1d &1 ol [dbed gl
98 AR <9 &1 Y|
Options :

1. % gdodUs d™ old
2. % G YabTa
3. ¥ 301 Yd&Td
4. % T gdaE ®1d

Question Number : 88 Question Id : 7532294539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad U A, IR fawedl & ¥, 39 fdsed &1 o &3 Sl iU 78 9190 & &Id &l Jg! fawea gl
Jg JHER ¢ Y&l YTl

Options :

1. % SdoqHaidw BId

2. % M YdbId

3. ¥ 301 Yd&dTd

4. % IfeTy gdHE HId

Question Number : 89 Question Id : 7532294540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawet § 9, 39 fawey &1 7o &L S fou T8 argy & e gfy & e &1 Te o1 fawed g |
IGH! TN FHI 81 TS B

Options :
1. % Hopard
2. ¢ G




3. % fyeme
4. % fygnef

Question Number : 89 Question Id : 7532294540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o, TR fawet § 9, 39 fawey &1 7= &L S fou T8 argy & e gfy & e &1 9e o1 fdwed g |
I Ule JHT 81 1S el

Options :

1. ® dpard
2. ¢ g
3. % foeod
4. % gy

Question Number : 90 Question Id : 7532294541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR el 7 9, 39 fawcd &1 97 &% St 9gl a1 U &1 fdbeu gl
o 3T H) THZER § 98 30 Hia™ &7 e @ g |

Options :

1.« iy are

2. % A IR

3. % ggod die

4. % faYyrFIdra® 91

Question Number : 90 Question Id : 7532294541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad Uy &, IR fawedl O T, 39 fawed &1 99 &< ST Ug! 916 N &1 [ddhed gl
Sl SMTEH TSR § 98 39+ HiTS &1 &9 3adT & |

Options :




1.« oy arey

2. % IR I

3. % JYId aI

4. % [qYTardd g

Question Number : 91 Question Id : 7532294542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famed! o 9 39 fdded &1 99 i ol G a9 BT gl [ddHed g
Options :

1. ¢ I 7T § % a8 S=rarify ufkar & Uer gar|

2. % AT ¢ fb 98 I=arify uRar & Ger gl

3. % T 71d ¢ fob a8 S=arify ufar & Ger ga

4. % IY 774 § fr 98 S=arifa uRar A Yer g g

Question Number : 91 Question Id : 7532294542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl # ¥ 39 fadwed &1 9g4 HIFT oY Y a1 &1 98! fadwed g
Options :

1. ¢ 374 g & 98 Srarfla ulRar & Ber ga

2. % qHTE g {5 a8 S=arifa uftar & ter gam

3. % T 7d § fob a8 Sarifa ufar & Ty gan

4. % IY 7L ¢ & 98 S=aTifg uRaR # Yar 8 B

Question Number : 92 Question Id : 7532294543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy O, aR fased! & 9, 39 fdeded &1 99 &< Sl fav19 g god a1 &1 Hal fadbeu gl

Options :

1. % A G A G, BIs MIET B




2. % AL AN H A I, PIs MG
3. % AL N, & A, Dl MIET 82
4. A, A, & AL Pis MIET B

Question Number : 92 Question Id : 7532294543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfead us H, IR fadedl | 9, 39 fdhed &1 90 o Sl faR1H g ot aTer 1 Fgt fdsbed 311
Options :

1. % A G G G, B MBI

2. % A1, AN S A G, Dls MIET g

3. % AL, A, & I I, Big MET |2

4. % A, N, T G, BIS MIET B

Question Number : 93 Question Id : 7532294544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fahca &1 987 &3 &t feu 71 Aifad o1 gt 31 arar fapea g |
TS AR I SHR

Options :

1. % gRkoma & srfAfgaarn

2. % ol Y BT SR A BT
3. ¥ %] HH 918 ardl i
4. % U Y YD1 THUM

Question Number : 93 Question Id : 7532294544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed uy &, IR et 5 9, 39 fahcd &1 987 & o feT U Aipifad o1 gt 31 arar fape g |
TP 3AR I AR

Options :




1. % gRuTH § AT
2. % ol &Y BT ST G
3. ¢ 9% HH dT8- dTd i
4. % Uh Y YD THUM

Question Number : 94 Question Id : 7532294545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied we o, TR fowenl # 9, 39 fadhed &1 7097 B Sl < 718 GgTdR &1 e 3 g fdsed g |
SDPR Sl

Options :

1. ¥ ggU ol

2. % ME1 Y1

Question Number : 94 Question Id : 7532294545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl § 9, 39 fddhed &1 909 o S &1 715 GgTaX &1 9g! o aretl fddbey 5
SH AT

Options :

1. ¥ gSU -l

2. % QMY

3. % I oAl

4. % QYEgH

Question Number : 95 Question Id : 7532294546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufefad vy B, IR fawedl B Q, 39 fadwen &1 w7 & S <1 112 geTa &1 It o arett fasweu 71



<] T STATd o]
Options :

1. % Io RI DA

2. ¢ IIh THR DA
3. % QMF®R gl

4. % faaren fAeTa

Question Number : 95 Question Id : 7532294546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & aR fawed # 9, 39 fawey &1 Tg9 &% ot &Y 718 YeTa &1 Ja! 3 arar fadwe ]
T T STaTd &l

Options :

1. % dd PRI Pl

2. ¥ T SHR AT

3. % SHBR M

4. % fearen feTa T

Sub-Section Number : 2
Sub-Section Id : 753229276
Question Shuffling Allowed : Yes

Question Id : 7532294547 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

ol fau A iR & 91 5 Uy AU T § | 9 TRIY ) erydeh ug SR IR fdded! H 4 Ude Uy BT HaiaH STk g |

JRAT B SHHATKT 31 TR A Bl & | TSI-HRAT, G SETHT, AU-AedR & FHA A Feb11 81 Tg] bUl bl HIfd AT<Ieh bl Wrell 81U
T 1 g5 B! Hifd g Il ! Jiel B FiATRes & AT &1 Ht R g1 IR df Uep 31 0RO § | IRl S--Td & AR UOR H 5|
1t gahe g3, I SUHT Ud 101 U AR 318 SR AT &1 Afchd R 715 | IR HREH! H 71 gard, - Jdl § 3TMY O &, d df ¢daR & g&f
& UM Siaeul 99 § T 37 &, fom1 foreht & ari fog, e fort & g e g d &1 IR o1 fea vt foa ofik 39 faar wad
IR 81 91d 81 3P YheU Tab hed 81 9T & | 3Rl 3R JHTS BT gl IR & ged | yShdl gl

Sub questions




Question Number : 96 Question Id : 7532294548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TEE & AR aRal oid YT JATS H Udhe g8 IUDT Al IR 3T UG g3
Options :

1. ¢ g4t gfdd g 7T

2. % M I @H I feT

3. % fopdl 9 f 38 ugarT 8t

4. % &t 7 1 S99 8! fan

Question Number : 97 Question Id : 7532294549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R & gad ® fhue! fidd ysdhdr g2
Options :

1. % g Dl

2. ¢ Rl 3R GHTS BT

3. % §GHM B

4. % GOl B

Question Number : 98 Question Id : 7532294550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&R o9 &1 T eI 87
Options :

1. % I Yob YgR B! SaGHdl gldl &
2. % 91 ggb gRT I b oTd &
3. % 3 fpadt ol ot fowms 78 <o

4. ¢ TP Yheq I Ghed a1 old &

Question Number : 99 Question Id : 7532294551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T8 ¥ HH-97 OROT BT FaTif Weg 781 82
Options :

1. % JoHl

2. ¢ YTl

3. % Uidrgd

4. % gl

Question Number : 100 Question Id : 7532294552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 3¢ B g JUYad Y-
Options :

1. ¢ 4RI &1 3ad

2. % qdhlgad

3. % 9N & fq9R

4. % JRdI &1 HgA

Question Id : 7532294547 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

= ferw T TR & a1E 5 Uy T T ¥ 1 9 T &Y eAHyd e Ug oI IR fad et H ¥ Udd Uy &1 gardy SR g

JRAT B SHHATKT 3 TbR A Bl § | TSI-HRAT, G SgTHT, AU-AedR & WHA A FebA1 81 Tg] bUl b1 HIfd AT<Ieh bl Wrell 81U
A 1 g5 B Hifd g Il & Jiel B FiATRes & AT &1 Ht dRar 811 IR df Tep 3id:OR0 8| IRl S--Td & AR Y9R H o/
't gave g5, AT SUHT T 791 &0 AR 315 3R AT &1 diohd R 75| IR SRGTH! H g1 e, 7 ¥dl # STE 91d 8, d df GdaR & g&f
& UM Sia=ul 99 # T 37 &, fom1 foreht & uri fog, e fort & g e g d €1 IR o1 foa vt foa oik 39 faar wad
IR 81 91d 81 3P Yhel Tab hed 81 91 & | 3Rl 3R JHTS BT gl IR & ged | yShdl gl

Sub questions

Question Number : 96 Question Id : 7532294548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3G b SIHR ARl ofe Hi THIS H Uebe g IUDI ANl TR &1 UHTd 3T
Options :

1. ¢ it Ffhd | MY

2. % Jl I WA IR ey

3. % et 71 ot I wgAr T

4. # Tl = 1}t IHbT G 6] fobar

Question Number : 97 Question Id : 7532294549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dR & gad # fbud! fdd ysHar g2
Options :

1. ® YD PI

2. ¢ 3fRdl 3R FHS BT

3. % §GHM B

4. % Folld BT

Question Number : 98 Question Id : 7532294550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R J3Y 1 1 UgTH 82
Options :

1. % 39 ggPb YgR P AIIHdT 8l &
2. % G 9P gRI I fhd 91d &
3. % g fooedt &Y oft fowrs a8t &a

4. ¥ IS YebeU Gab Yehed B1 1A &

Question Number : 99 Question Id : 7532294551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T8 Y B H-91 URUT BT AT 2ea 781 89

Options :



1. % IS
2.+ 3[YYTE!
3. % TigTed

4. % deldl

Question Number : 100 Question Id : 7532294552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TG DI Plg IUYad XY P-

Options :

1. ¥ 4RI BT I

2. % {Jddhlgad

3. % AN & faIR

4. % JRdl ST HEA
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Number : 1
Sub-Section Id : 753229277
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532294553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By 2030, ensure that all girls and boys have access to quality early childhood development, care and pre-primary education so that they are ready
for primary education is stated under which sustainable development goal it is mentioned.

Options :

1. % Sustainable Development Goal 1
2. % Sustainable Development Goal 4
3. # Sustainable Development Goal 6

4. % Sustainable Development Goal 5

Question Number : 101 Question Id : 7532294553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2030 I, G & [ Gt Tefral ok de! ao Turadrgul SRN® Srerawt fde™, SaHTd 3R gd-mmufies e d ugd 81 dife
d Ui fR1g o fore gofa: TR g e | a8 Huivoiy faer & oy dea & IfcaRad g2

Options :

1. % JO9uilg A a8 1
2. ¢ JOYUIY AT A& 4
3. % qUvofig fasmr de&d 6
4. % YOOI [dHTT A&7 5




Question Number : 102 Question Id : 7532294554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under the National Education Policy 2020, the Anganwadi Centres in India should be equipped with ?
Options :

1. ¥ Well- trained Anganwadi staff

2. % Highly digital classroom

3. % Expensive play material

4. % Colourful charts

Question Number : 102 Question Id : 7532294554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 16 Hifd 2020 b STAR HRA | THETE! gl ! 9 § & fobad) afwsrd foban S =g w?
Options :

1. ¢ 381 oRE W Ui SHivars! sl

2. % Ipy fSfSed wemai

3. % g W

4. % @i

Question Number : 103 Question Id : 7532294555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which institution in India has developed a play-based learning package with a focus on developing cognitive and psychomotor abilities?
Options :

1. # SCERT

2. ¥ MHRD

3. % NCERT

4. ¥ DIET

Question Number : 103 Question Id : 7532294555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HRA & [ GRIF 3 IATHS 3R TTSHHICR (psychomotor) &HATSA B I RIT A TR &4 &7 & 1Y W-3A1enfd fRierr et o
ST DI 82

Options :

1. ® SCERT

2. % MHRD

3. ¥ NCERT

4. % DIET

Question Number : 104 Question Id : 7532294556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India the State Government are required to prepare the cadre of professionally qualified teachers for ECCE using which kind of training?
Options :

1. # Student-specific training

2. ¥ Stage-specific professional training

3. % Parent-specific training

4. # Space-specific professional training

Question Number : 104 Question Id : 7532294556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, Iod BRI gRT o UHR & UFRIE01 BT SUTNT HRdl U ECCE & oy R 1 R1erp! o1 Fawt daR T SHTa=ae 87
Options :

1. % B-faf1y gfremor

2.  ARYI-fAfRIY gfties ufRemn

3. % Hidl-fuar-fafry gfreon

4. % RYH-fAfAY URIeR gframor

Question Number : 105 Question Id : 7532294557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not an outdoor material:
Options :

1. ¥ Manipulative toys

2. # Bicycles

3. % Jump ropes

4. # Climbers

Question Number : 105 Question Id : 7532294557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 7 3 HF O e eceR Wd el g 82
Options :

1. ¥ Ugait ardl Raes

2. % HEfbd

3. % g arell &

4. & qARER

Question Number : 106 Question Id : 7532294558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For whom the Rajiv Gandhi National Créche Scheme for children was launched?
Options :

1. ¥ Working mothers

2. % Teachers

3. ¥ Working grandparents

4. % Siblings

Question Number : 106 Question Id : 7532294558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTol1g el AR o TH B Y31 frap forg &t 71 e



Options :

1. ¢ SAGRI AT

2. % fRrerept

3. % HRISR grel-arel (s Wew)
4. % IR (HIL-T6)

Question Number : 107 Question Id : 7532294559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two government schemes was merged to develop Rajiv Gandhi National Créche Scheme
Options :

1. #® ICDS and National Creche Fund

2. # National Fund and MWCD

3. # Early Childhood Education Scheme

4. % National Créche Fund and the Scheme of Assistance

Question Number : 107 Question Id : 7532294559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RISt TiE AR dhd WH B BT HA b U fovt & e84 o1 faera fovan
Options :

1. % EASITY 3IR AP hd By

2. % AT BV SR TSI

3. % URY® a9 Rigm aier

4. ¢ TP 9 BV 3R FETIAT o]

Question Number : 108 Question Id : 7532294560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Globally in 2020, how many number of children under 5 years are stunted based on the figures shared by WHO?
Options :



1. ¥ 149 Millions
2. % 145 Millions
3. % 159 Millions
4. # 146 Millions

Question Number : 108 Question Id : 7532294560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WHO o 3ffebsl o SFTHR 2020 W QX {3y # i< a8 9 & 31 o febe =il o1 faieprar quict: 78T U &2
Options :

1. ¢ 149 fiferq

2. % 145 forferg=

3. % 159 foyfera

4. % 146 forferg=

Question Number : 109 Question Id : 7532294561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

during pregnancy and early childhood can adversely affect brain development, affecting cognition, school readiness, behaviour and
productivity into the school-age years and beyond.

Options :

1. # Poverty

2. # Maltreatment
3. % Malfunction

4. % Malnutrition

Question Number : 109 Question Id : 7532294561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THERIT 3R RIS e & GRA F9 & I ®IF Ot Rufa afass & fawr & ufded U 9 THIfad SRl &, off 3! 3afy & GRHE
T & WIS T, T, UHia 3R IdTGdHhdT &1 THITAT B Jahal! 82
Options :




Question Number : 110 Question Id : 7532294562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nutritious and safe complementary (soft, semi-solid and solid) foods should be progressively introduced starting at which month?
Options :

1. # 8 month

2. % 7 month

3. % 6 month

4. % 5 month

Question Number : 110 Question Id : 7532294562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I B NPF IR JRed b (R, 3-8 3R 31%) T uerd s |18 &1 31y ¥ RIam1 L& i o1 a1fege?
Options :

1. % 8§ HIE

2. % 7HIG

3. ¥ 6 Hlg

4, % 5Hg

Question Number : 111 Question Id : 7532294563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In ECD the window of opportunity for children’s to grow and develop to their full potential are the first number of days?
Options :

1. % 100



2. % 1000
3. % 2000
4. % 1100

Question Number : 111 Question Id : 7532294563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECD & 92 31 913 3R Iu Fatfior e ¥ forg ved R @1 orafil Treeaol 8K 2
Options :

1. % 100

2.4 1000

3. % 2000

4. % 1100

Question Number : 112 Question Id : 7532294564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the technical support wing created under Child Development Bureau of the Ministry in 1964 to conduct awareness campaign in
malnutrition and its prevention, and provide direct interventions for preventing malnutrition among young children?

Options :

1. ®* Community Food & Nutrition Extension Units
2. # Food and Nutrition Bulletin

3. % State Food Board

4. ¥ Food & Nutrition Board

Question Number : 112 Question Id : 7532294564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHUIN 3R ZHH ABUM & Ty T Al S TaH 3R SIS T § HUINUT B AH UM 3 Tdel ST H3- & fo1T 1964 H
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Options :

1. % qeiiie @Te Ud Uivor fadR gahrsar




2. % W7 SR Uy geifed
3. % I WY IS
4. ¢ WTE T4 UV S

Question Number : 113 Question Id : 7532294565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
as the chief means to reduce child mortality caused by diarrhea.
Options :
1. ¥ Oral Rehydration Solution
2. % Home Available Fluids
3. # Oral Rehydration Therapy
4. % Salt Sugar Solution

Question Number : 113 Question Id : 7532294565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (ST & HRUI A aTelt ST Jog & Bl HH H3 & e 9 & J DI 91 T U I1eH 8) Tl 82
Options :

1. ¢ 3Rd RersseH faaa

2. % R Y IUAS R yard

3. % 3Rd Nerggw Rd

4. % TG T BT °Oid

Question Number : 114 Question Id : 7532294566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which deficiency among the preschool children and expectant and nursing mothers is one of the major preventable health problems in India?
Options :

1. ® Nutritional Anorexia

2. % Nutritional Blindness



3. ¥ Nutritional Anemia
4. ¥ Night Blindness

Question Number : 114 Question Id : 7532294566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd B l-3pd & a=dt, Tadt 3R =t ol g e areht arstt & urdt S ATl Ui Ty e HaRe gew | g?
Options :

1. % U Heel TR

2. % OIVU Heeft efPgar

3. % UIYUT Gl T

4.« el

Question Number : 115 Question Id : 7532294567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which policy has a goal of bringing down, the incidence of low birth weight by 10 per cent and the present?
Options :

1. ¥ National Nutrition Policy

2. ® National Health Policy

3. % National Food and Health Policy

4. ® National Food Policy

Question Number : 115 Question Id : 7532294567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Hifa o1 9eg 5 & T = B HH ol bl JHTT B! IdHH T 10% TP HH BT 22
Options :

1. ¢ 81 g Hifa
2. % Py Wy Hifd
3. % P W 3R W Hifd




4. % 1819 @y Hifa

Question Number : 116 Question Id : 7532294568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The true measure of a nation’s standing is how well it attends to its children — their health and safety, their material security, their education and
socialization, and their sense of being loved, valued, and included in the families and societies in which they are born”- Who has given this
definition?

Options :

1. # UNESCO

2. % UNESCO MGIEP
3. % World Bank

4. ¥ UNICEF

Question Number : 116 Question Id : 7532294568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foelt ATy B THfes BT ! YA U8 & [, "ag U ol - I7ch WA SR &, b1 ARINeD JR&f, 371 A& 3R FHTSHDBRN 3R
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Options :

1. ®* UNESCO

2. % UNESCO MGIEP

3. % World 9

4. ¥ UNICEF

Question Number : 117 Question Id : 7532294569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the determinants of a good life for children, the promoters of growth and development for them?
Options :

1. # Well-being

2. % Education



3. # Health
4. ¥ Hygiene

Question Number : 117 Question Id : 7532294569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & 3wy oitad o1 uR®, 3% e gfe iR fawra &1 yads e g w g
Options :

1. # I

2. TRran

3. % WY

4, % W=ydl

Question Number : 118 Question Id : 7532294570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the outdoor play, when a child ask children to make a queue and give them instruction about turn taking, which developmental domain
she is primarily focusing upon?

Options :

1. # Gross motor

2. # Creative skills

3. % Socio-emotional

4. ¥ Language

Question Number : 118 Question Id : 7532294570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TICSR Wdl &b SR, T Bls Tl 30 Tl U HAR T4 3R 30U TR BT SAWR B BT FG 2 <ol 7, 91 98 T TU 3 fhg
BT aTHS SIAT UR & Piad B g1 82

Options :

1. % ghdl Al

2. % TATHS HIRA




3. « gD -HIaTTHD
4. % Y

Question Number : 119 Question Id : 7532294571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of play gives the children an opportunity to use language, such words and phrases that they do not understand but that they use
during play activities?

Options :

1. % Imaginative play

2. % Physical play

3. # Solitary play

4. % Games with rules

Question Number : 119 Question Id : 7532294571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P UPR & Tl S BT T HTWT, T e 3R IR b1 STIANT B DT AR < o, forg 3 A=l af et uTd afde @t fafaferat &
SR 3T IUTNT HRd 82

Options :

1. ¥ SR WA

2. % IRING @

3. % Uhd Wd

4. ¢ FaTged 9d

Question Number : 120 Question Id : 7532294572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ECE theory in the following option is given by Bandura?
Options :

1. % Self-obsessed theory

2. % Self-revolution theory



3. % Self-regulation theory
4. ¥ Cognitive theory

Question Number : 120 Question Id : 7532294572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 7§ & & 91 ECE Riaid 9g™1 gR1 faar man g2
Options :

1. % 3dHbiad Rigid

2. % JTH-pifd Rigid

3. % W-Fge Rigid

4. & GYATHAS Rgid
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Question Number : 121 Question Id : 7532294573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Attention and memory is considered a part of which processes in young children?
Options :

1. # Specific cognitive

2. ¥ General cognitive

3. % Special cognitive

4. ¥ Cognitive

Question Number : 121 Question Id : 7532294573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIc Sl 8 & R Wi &1 fod Ufehan o7 fgwan a1 STt 62
Options :

1. % fafry T

2. ¢ A YAATHB

3. * faRIY SIS

4. % GIHTHD

Question Number : 122 Question Id : 7532294574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zone of Proximal Development (ZPD)- the term is given by whom as part of learning and development theory for children?



Options :

1. # William James
2. % Sigmund Freud
3. % Carl Rogers

4. ¥ Lev Vygotsky

Question Number : 122 Question Id : 7532294574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy g 85 (ZPD)- sr=t & fRIeiur 3R faerT Rigid & YT & =0 § I8 Weg fohads gRT fear mar g2
Options :

1. % faferam o

2. % s BrIs

3. % BTl Ao

4. A9 ARSI

Question Number : 123 Question Id : 7532294575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Early childhood refers to the period from:
Options :

1. ¥ Birth to 8 years

2. % Birth to 12 years

3. # Birth to 7 years

4. % Birth to 10 years

Question Number : 123 Question Id : 7532294575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS STerATaRAT HT 3afe) o1 52

Options :



¢TI gy
2. % P 1299
3. % SFHY 798 db
4. % S H T 1039 B

Question Number : 124 Question Id : 7532294576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is known as the father of behaviorism?
Options :

1. ¥ John B. Watson

2. % John Locke

3. % John Dewey

4. % John Stephen

Question Number : 124 Question Id : 7532294576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

370 9 ford IagRaAIE & S-d & =0 H ST ST 82
Options :

1. ¢ S &1, gy

2. % S Al

3. % i dl

4. % S WIHA

Question Number : 125 Question Id : 7532294577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The comprehensive US Federal antipoverty programme Head Start was initiated in
Options :

1. % 1960



2. % 1964
3. ¥ 1965
4. % 1968

Question Number : 125 Question Id : 7532294577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THe I & forg Mkt Tg gRT TRIe I HHH, 38 W Hd YR a1 141 412
Options :

1. % 1960

2. % 1964

3. ¥ 1965

4. % 1968

Question Number : 126 Question Id : 7532294578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of ICDS?

Options :

1. ® Integrated child deformity services

2. ® Integrated child development scheme
3. ¥ Integrated child development services

4. ® Independent child development services

Question Number : 126 Question Id : 7532294578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ICDS &1 U1 &7 7 82
Options :

1. ® Integrated child deformity services (3¢IUCS TS fSwIfd afda)
2. % Integrated child development scheme (33@%8 EIESS SqdTHe Fﬁl’ﬁﬁ)



3. ¥ Integrated child development services (s'élflés qIgcs SaauHc ﬂﬁ@ﬁ)
4. % Independent child development services @%ﬁ@'z EIES] Saqudc ‘v’lﬁﬂ)

Question Number : 127 Question Id : 7532294579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which article, free and compulsory education to children of age group 6-14 years has become a fundamental right?
Options :

1. % 31A

2. % 45 A

3.921 A

4. % 40 A

Question Number : 127 Question Id : 7532294579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT TAU™ & forg 3ffase & Savid 6-14 T4 &1 S & Fad! o fard F:Redh 3R SHard e & Mifees iR &1 fear man g2
Options :

1. % 31A

2. % 45 A

3.921 A

4. % 40 A

Question Number : 128 Question Id : 7532294580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of PSE KIT developed by MWCD?
Options :

1. ¥ Pre-School Education Kit

2. # Private - School Education Kit

3. % Pre- School Environmental education Kit

4. # Public- School Education Kit



Question Number : 128 Question Id : 7532294580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MWCD gRT fd®RId PSE KIT &1 JU1 U 341 82

Options :

1. ¢ Pre-School Education Kit (Hl-¥hd] Q\gab-‘ll"l fahe)

2. ¥ Private - School Education Kit (wsac-«pm Q\gabiil"l fhe)

3. ¥ Pre- School Environmental education Kit (Cﬁ—%dgﬂ Q"Idlq"m‘Cﬂ Q\gabfll"l i-a?C)

4. # Public- School Education Kit (m—@_v{ QG]\aWI:i ﬁ,—cr)

Question Number : 129 Question Id : 7532294581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was published in 2005 by the National Council of Educational Research and Training in India that provides the framework for making
syllabi, textbooks and teaching practices within the school education programmes in India?

Options :

1. % NPE
2. ¥ NCF
3. % ICDS
4. % ESSE

Question Number : 129 Question Id : 7532294581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Qe Srge SR UfReor uRwe gRT 2005 H UobIRIA , WRd # faamerdt Rian srishH! & fiT uTersh, Ureaqwdd 3R
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Options :

1. ® NPE

2. ¥ NCF

3. % ICDS

4. % BSSE




Question Number : 130 Question Id : 7532294582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the all-round development of young children which is not considered as one of the important development domain?
Options :

1. # Physical

2. % Mental

3. ¥ Environmental

4. % Emotional

Question Number : 130 Question Id : 7532294582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIe g & Fari faer &, g § 9 frd Heayu! fasr S Tt 31 Sl /2
Options :

1. * YRING

2. % HHRID

3. ¢ TR

4. % Y[ATHD

Question Number : 131 Question Id : 7532294583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ECE classroom curriculum is developed to support learning for children coming from diverse background, as a teacher how can she make
the classroom engaging for every child?

Options :

1. ¥ By using contextualize-inclusive learning material
2. % By dividing the groups based on their religions

3. % Making sitting arrangement caste wise

4. ¥ By providing group wise materials



Question Number : 131 Question Id : 7532294583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECE F&f UTaash &1 o, fafae gyl & o ard s & forg fReror & gant - gq foan T ], T e gR1 vl s & fog
BT B HY BB AT GlTchdg?
Options :

1. ¢ HeHipd-grmast Rieor It & SuanT R
2. % UG ®I 3D YAl b YR W faHToId avep
3. % 93 DI IR B SMIAR FH

4. % JUZAR U U BB

Question Number : 132 Question Id : 7532294584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first few years of childhood is divided into 3 stages. Which of the following answer is not covered under early childhood?
Options :

1. ¥ Adolescence

2. # Late childhood

3. # Early childhood

4. % Infancy

Question Number : 132 Question Id : 7532294584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & RS $S T ! 3 IR0 H §iet T 3 | FofRad & & & 137 avlf & Sfarid g ST 82
Options :

1. ¢ fohRIRTaRIT

2. % TRAd! ST

3. % ddUq

4. % QYIHTA



Question Number : 133 Question Id : 7532294585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is also the reason for developing positive self-worth among children which leads to their better learning outcomes as
well?

Options :

1. ¥ Parents spending time with children
2. # Providing gadgets and toys to children
3. % Increase in industrialization

4. % Adopting modern lifestyle by the family

Question Number : 133 Question Id : 7532294585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 9 S 91 ARl s H RIS 3HTH-Hed P (GBI BT BRI ST 8, S 3 RIS URUTHI IR 3JRe 3R STerdl 672
Options :

1. ¢ HIA1-fOUd1 &1 sl o 91 99y foarn

2. % g DI Toicy 3R RIaH Suas HH!

3. % SfErfieRu & gfs

4. % URER gRT MY Siia Qi YT

Question Number : 134 Question Id : 7532294586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who gain self- confidence and self-esteem s through the experiences of ECCE?
Options :

1. # Parents

2. % Children

3. % Grandparents

4. ¥ Society

Question Number : 134 Question Id : 7532294586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ECCE & 3Hdl & A1egd q D A9 § ¥ S A-IYTRT 3R SHTH-TH1 U Rl 82
Options :

1. % Hrar-far

2. ¥

3. % grel-arel/AM-AM]

4. % U

Question Number : 135 Question Id : 7532294587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE does not focuses on end result instead it focus primarily on which among the below option?
Options :

1. % Mediation

2. ¥ Life-long learning

3. % Skills only

4. ® Child’s physical strength

Question Number : 135 Question Id : 7532294587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE $ifad aRumd iR =7, afc e & 3 fdht v )R &g Sfgd a8, 98 R 2
Options :

1. % ARl

2. ¥ 3TSita 3iferrd

3. % Had DI

4. % g 31 ARIND Al

Question Number : 136 Question Id : 7532294588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Early childhood education helps a child to become a/an productive citizen.
Options :

1. # Physically

2. % Highly

3. # Energetic

4. ¥ Socially

Question Number : 136 Question Id : 7532294588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG AT B VA TE TA D FTUY ISP ARG §71 H TgHIdl dcll g
Options :

1. % QYRIND

2. % AUH

3. % GHoraH

4. ¢ SIS

Question Number : 137 Question Id : 7532294589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In ECE all are interlinked and interrelated to each other.
Options :

1. ¥ Domains of development

2. # Subjects

3. % Aspects

4. ®% Domains of growth and height

Question Number : 137 Question Id : 7532294589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECE ¥ gt i TH R I RER e g |



Options :

1. ¢ [d&p™ & & (SH9)

2. % fawg

3. % Ugq]

4. % gfg R SR & &F (SH)

Question Number : 138 Question Id : 7532294590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children learn language through operant conditioning, which theorist has highlighted this statement in his/her theory of development for
children?

Options :

1. # Edward Thorndike
2. # Ivan Pavlov

3. % John B. Watson

4. % B. F. Skinner

Question Number : 138 Question Id : 7532294590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® USds UYHez®

2. % I Ulddld

3. % S &l dle9H

4. ¢ TG, HR

Question Number : 139 Question Id : 7532294591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the play activity if you hide her favorite toy and the child still continues to look for it even though the she is not able to seek it, which
concept is being developed among the child?



Options :

1. ¥ Object permanence
2. # Object Sharpness
3. % Object perception

4. # Problem solving

Question Number : 139 Question Id : 7532294591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ a5 R

2. ® 9G¥ DR

3. ® 9YJ YR

4. % U DI A

Question Number : 140 Question Id : 7532294592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is not in the team of ICDS programme?
Options :

1. # Supervisor

2. % Anganwadi Worker

3. % District Programme Officers

4. ¥ Section officer

Question Number : 140 Question Id : 7532294592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Play material like mirror game or photo recalls are used to enhance which concept among children?
Options :

1. ¥ Self- awareness

2. # Self- migration

3. # Self-hatred

4. # Self-demanding

Question Number : 141 Question Id : 7532294593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl H o SIaURUN & fIpTd & fore fFoRR 719 a1 Wi Repid SR Wil BT SUIRT b1 e 572
Options :

1. ¢ HH-SIRep dl

2. % W-Ydrad

3. % HTH-YU

4. % W-3qfa

Question Number : 142 Question Id : 7532294594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

While engaging children in free-play what kind of materials should be generally used to enable their playing experience?
Options :

1. ¥ Safe and low-cost

2. % Expensive

3. # Modern and tech-based

4. % Fibre or wood based

Question Number : 142 Question Id : 7532294594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % &
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Question Number : 143 Question Id : 7532294595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children in the age-group of 3-5years enjoy learning new skills and capable of learning language rapidly. What practice should not be followed
by ECE that can create challenges in their learning?

Options :

1. # Opportunities for self-expression

2. % Hands-on exploration for learning through action

3. # QOpportunities for taking responsibility and making choices

4. ¥ QOpportunities for developing biases in the classroom

Question Number : 143 Question Id : 7532294595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-5 a9 & 3T I & T TU PHIRTS SR HTHT S F 3R Teg! ¥ FGd &1 ECE P GRM WA $1 3! Ufchan § Fifaat 7 31, $HP
forg 9 = J &R 781 1 1w

Options :

1. % 3T SR & AR

2. % fob1 o HTeH 3 fR1&01 & foIu ATIGIRD 3w
3. % FOTHERI O 3R TG IR & AR

4.« Hefl H qaiug faHRid A & e

Question Number : 144 Question Id : 7532294596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Curriculum in early childhood is defined as an organized framework that includes 3 major components. Which among is not the correct option?
Options :

1. # Context

2. ¥ Finance

3. # Content

4. % Processes

Question Number : 144 Question Id : 7532294596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R FTeTaT H UTdaad] &l U Wiifed aid & ¥U & Ry forar mar g fored 3 i g 2nfie § | 7 fased! & @ o 3|
gch! # 4 TP 151 52

Options :

1. % gy

2. ¢ fad

3. % fowmamdt

4. % Yichay

Question Number : 145 Question Id : 7532294597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The medium of interaction in the ECCE centre should be in?
Options :

1. ¥ Home Language

2. # State Language

3. % District language

4. ¥ Community language

Question Number : 145 Question Id : 7532294597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ECCE &g H 9dTg o1 HIeqd o1 g1 dligu?
Options :

1. ¥ T HTS

2. % Y HINT

3. % foret yrS

4, % JrHIRY HIST

Question Number : 146 Question Id : 7532294598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who gave the term rule-based play?
Options :

1. ¥ L. S. Vygotsky

2. ®* Jean Piaget

3. # Karl Groos

4. % Moritz Lazarus

Question Number : 146 Question Id : 7532294598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g snurfa @ (rule-based play)' Rleq forem feam
Options :

1. ¢ U0, dRATIch!

2. % Sfi foams

3. % B gd

4. % AN AORY

Question Number : 147 Question Id : 7532294599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Early Childhood Care and Education (ECCE) found its due place in the policy framework in India later in which year?



Options :
1. % 1976
2. % 1988
3. ¥ 1986
4. % 1990

Question Number : 147 Question Id : 7532294599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l AT g HAR TS UGh R (ECCE) BT HRA o AT aid H fordy ay o Iavrdl & Tgfard RAH Ured g
Options :

1. ® 1976

2. % 1988

3. ¥ 1986

4. % 1990

Question Number : 148 Question Id : 7532294600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All standardized tests used in early childhood care and education programs must be :
Options :

1. % Valid

2. # Invalid

3. ¥ Reliable

4. ¥ Reliable and valid both

Question Number : 148 Question Id : 7532294600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR AT CEHTS 3R el HRIHH! & 8 ardt Tt AFdidd URIefo HREIRY
Options :

1. % qY




2. % 3y
3. % fayg-g
4. ¢ Ty IR Y A

Question Number : 149 Question Id : 7532294601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is odd?

Options :

1. # Anecdotal notes

2. # Informal reading inventories.

3. # Story retelling

4. ¢ Indicating answers from given alternatives.

Question Number : 149 Question Id : 7532294601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 T ¥ &1 1 TP 30 T 3R 82
Options :

1. % JURSAHIHSD fewfori

2. % SFEURG Y3 it

3. ® SHEMI e

4. ¢ [dHedl H q IR BT 999 BRI

Question Number : 150 Question Id : 7532294602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a formal assessment?
Options :

1. ¥ Assignment

2. % Paper



3. # Quiz

4. % Discussion

Question Number : 150 Question Id : 7532294602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T q HH I TP SMU=Re Jeaie Ta! 82
Options :

1. % URASH 1

2. % TRjeM

3. % Uy

4.« JIHId

Question Number : 151 Question Id : 7532294603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the degree to which the test accurately measures what it purports to measure.
Options :
1. ¥ Validity
2. % Invalidity
3. # Reliability
4. % Unreliability

Question Number : 151 Question Id : 7532294603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 Bife § ol I8 Muiid et 8 {5 oS thiemn Iier Fu 9 98 A 8 o A & forg 39 Fuffed fsar mn g
Options :
1. ¢ Yl
2. % 3fdYdl
3. % fayeiraan



4. % JfAYTEIA

Question Number : 152 Question Id : 7532294604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is screening assessment?

Options :

1. ¥ A snapshot of children’s current skills.

2. ® A snapshot of children’s future skills.

3. # A snapshot of children’s past skills.

4. ® A snapshot of children’s future potentials.

Question Number : 152 Question Id : 7532294604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BB e ichT 3T 82

Options :

1. ¥ =i & A DI BT TP WURIIC

2. % ol & YIS & IR BT U WURIC

3. % gl & IS BRI BT Ud HuRI(C

4. % Fodi &b YIS BT YUTGIST BT T HURic

Question Number : 153 Question Id : 7532294605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an odd?
Options :

1. ¥ NCERT

2. ¥ UGC

3. # SCERT

4. % DIET



Question Number : 153 Question Id : 7532294605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fE T QD1 A1 U 3 3R 87
Options :

1. # NCERT

2. ¥ UGC

3. # SCERT

4. % DIET

Question Number : 154 Question Id : 7532294606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Major purpose of Early Childhood Assessment is not:
Options :

1. ® To support children’s learning

2. ¥ To communicate the parents of children.

3. # To identify the special needs of children

4. ® Program evaluation and monitoring trends.

Question Number : 154 Question Id : 7532294606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e O o1 SR STeUTaRT Hedich &1 Ueh UHE I520 T8l 67
Options :

1. % g B FRIg &1 FHd BT

2. ¢ ! & HIal-fUdr ¥ darg &A1

3. % godl B faRY SRexdl &1 ggd Bl

4. % HTHH egih SR FTRF 3311




Question Number : 155 Question Id : 7532294607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Classroom-based assessments of children should be done by:
Options :

1. ¥ Engaging children in play.

2. # Engaging children in conversations

3. % Requesting children to construct meaning.

4. # Requesting children to tell story.

Question Number : 155 Question Id : 7532294607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S| Bl HET-HTUTRT b ICRIRSIRIEIEY
Options :

1. ¢ §<d] ] Wd H AMUA b

2. % SIddid H g B ATMHA PR

3. % qodl 3 A0 B BT SFRIY PRb

4. % gl Y HEH YA BT SFRIY b

Question Number : 156 Question Id : 7532294608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neeta may be typical according to the measures but not achieve proficiency according to the measures.
Options :

1. # Criterion —referenced measures; Norm referenced measures.

2. % Reliable measures; Criterion —referenced measures.

3. % Norm —referenced measures; reliable measures

4. ¥ Norm —referenced measures; Criterion referenced measures

Question Number : 156 Question Id : 7532294608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o Sy IR AR I ISEd g Al @1 gfaaal & SUR q&dT g1Rid el dR g gl
Options :

1. % AHdS-HENd UM, IHI TaiHd U

2. % fayTg I, AHdS-Taiid Sur

3. % gHRg-Heitid Iur; fayeia Iur

4. ¥ HHG-Heltd Iur; HFcS Hafid 3ur

Question Number : 157 Question Id : 7532294609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Repetition of oral pattern is

Options :

1. # Playing

2. ¥ Dirilling

3. % Understanding

4. ¥ Summarizing

Question Number : 157 Question Id : 7532294609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T Bt TRIGRT 31 Healldl 82

Options :
1. % Qo
2.9 WY
3. % gHL
4. % ORI

Question Number : 158 Question Id : 7532294610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Parent-child activities:

Options :

1. ® Damages language development of children.

2. ¥ Promotes language development among children.

3. # Provides an opportunity where the language is seen, noticed and used by children.

4. ® Encourages children in communicating in the class with peers

Question Number : 158 Question Id : 7532294610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- e afafafmr . g

Options :

1. % g & I fabr O a1eh gl

2. ¢ S & HIN® fabTg &Y S rar St

3. % Ug VYT TR UG Bl § ST HIVT =) gRT ST, TSN 3R IuTNT Pl oirell o
4. % g I B! Hel H WGl & 1Y TdTe HA & fore Tieanfed e o

Question Number : 159 Question Id : 7532294611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
develops students’ emotional intelligence,

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Direct approach

2. Communicative approach

3. Humanistic approach

4. Inductive approach

Question Number : 159 Question Id : 7532294611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT Bt HITATHS gfg e Ra HRarg|
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Uaef I

2. Fuoftodr Efgeion
3. Hadard) eI
4. MTHATAS D0

Question Number : 160 Question Id : 7532294612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Task-based language teaching (TBLT) was popularized by:
Options :

1. ¥ M.S.Prabhu

2. % N.S. Prabhu

3. % K.N.Prabhu

4. % S Prabhu

Question Number : 160 Question Id : 7532294612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIY-3ATTRT HTST RA&0T (TLBT) ! fordds gRT AT ST 717 UT?
Options :

1. ® THUTIUY

2. ¥ UATH UY

3. % HUAUY

4, % TH.UY
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Question Number : 161 Question Id : 7532294613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The status of English language in the Indian Constitution is
Options :



1. ¥ Associate language
2. # Recognized language
3. % Official language

4. ® Foreign language

Question Number : 161 Question Id : 7532294613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Iy # P vt fRITI T FEUARI
Options :

1.« g HIN

2. % HAT YT HTST

3. % STHTHT

4. % fae=it yr

Question Number : 162 Question Id : 7532294614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not meaning based activities?

Options :

1. # Reading the text materials and then explaining the same to the friends.
2. ® Using previous knowledge in the present situation.

3. ¥ Reading loudly each and every word of the text and then translating.
4. ® Reading the text materials repeatedly.

Question Number : 162 Question Id : 7532294614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafea & @ o O e ol emenia mfafafy 78t &2
Options :

1. % UT&d Il &1 U 3R b 3 i o gwerm



2. % gaqH fUfd & fUsd I &1 ST STl
3. ¥ U136 & UA® TG I 9IR § UG 3R R 3arg &3
4. % UIT qHY &l IR-GR UeH|

Question Number : 163 Question Id : 7532294615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Story telling is:

Options :

1. ¥ An effective pedagogical instrument in the development of receptive language skills.
2. # An effective pedagogical instrument in the development of productive language skills.
3. # An effective pedagogical instrument in testing the memory of learners.

4. % An effective pedagogical instrument in predicting the memory of learners.

Question Number : 163 Question Id : 7532294615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEHI A FEH A /T2

Options :

1. ¥ TRURIE HTT SITd & I g U THTdT RAeffre Suau|

2. % JIATGH HIN DI & BN g U U Reifores I |

3. % fRenfial o Wfa & gderr 8g U gHTdT e Iuau|

4. % Ryt o Wia & HiawEmht S & e guTEt A&foe Iuau|

Question Number : 164 Question Id : 7532294616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who commented: If you want your children to be smart, tell them stories. If you want them to be brilliant, tell them more stories.
Options :

1. ® Piaget

2. ¥ Einstein



3. # Plato
4. # Dewey

Question Number : 164 Question Id : 7532294616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ug foha el Tl 31y =1 € fob 3iueh sredl BRI &, ot 3¢ peti-al G| afg o =g © fob d wferriredt g, a1 3¢ ok dgifal
|

g?)-lt-iqons:

1. % fogms

2. ¥ SRR

3. % Wil

4. % gt

Question Number : 165 Question Id : 7532294617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a book starting with pictures, poems and stories and ends with alphabets in the end. This kind of approach in language pedagogy can be
understood as:

Options :

1. * Bottom-up approach
2. % Differential approach
3. ¥ Top down approach

4. % Eclectic approach

Question Number : 165 Question Id : 7532294617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o3 T 3, Hiaarsit 3R Ha1fal I Y= gl 8 SR JufHTe & 1y THIe gieit 8, at {1 FRISTRe 3 39 YR & IUNTH S T
AT ST Fehell 82

Options :

1. % Og-=MY IURH




2. % JUTH IUNTH
3. « Tfiv_ure IumH
4. % Jhdd IUNH

Question Number : 166 Question Id : 7532294618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Deductive teaching and learning method involves:
Options :

1. # Parent’s perspectives.

2. % Student’s perspective

3. % Teacher’s perspective

4. % Both students and teachers perspectives.

Question Number : 166 Question Id : 7532294618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o B Q =¥ e e ok siftrmy fafty & wnfiva 8
Options :

1. % AU o1 DI

2. % B BT EPDIUN

3. ¢ TR1&b BT ERDI

4. % B 3R gl ST & EfPepivr

Question Number : 167 Question Id : 7532294619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true?

Options :

1. ® The nature of mathematics is ornamental.

2. ¥ The nature of mathematics is logical.



3. % The nature of mathematics is difficulty.

4. ® The nature of mathematics is philosophical.

Question Number : 167 Question Id : 7532294619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7 8 HF 91 Y 981 52
Options :

1. % TIIOId &1 Up Tl SABINGD §

2. « TIOId B Ul e ©

3. % T ) Upfal g:TeAdT B

4. % OGP} Ui e ®

Question Number : 168 Question Id : 7532294620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Early mathematical skills are the strongest predictor of
Options :

1. ¥ Later success in both reading and mathematics.
2. # Later success in mathematics.

3. # Developing rational outlook in day to day life.

4. ® Developing critical outlook in day to day life.

Question Number : 168 Question Id : 7532294620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T DI & foTT qa9 31 STl 5 |
Options :

1. ¢ vfawg # ug 3R Tford <1 § g% aar

2. % Hiqw § (01 | Joherd

3. % @ Siia B dhuTd SV®HI0 BT [dT B




4. % 3P SaT & STATHD =PI BT fahr B

Question Number : 169 Question Id : 7532294621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most of use of Mathematics done in the activities of human life, that is?
Options :

1. # Cultural

2. % Psychological

3. % Social

4. ¥ Economical

Question Number : 169 Question Id : 7532294621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIOTd T SHTRIHTRT IUANT HIa SitaH o1 fobet Tifafafern & fosam simar g2
Options :

1. % gRpldd

2. % TS

3. % IS

4. S

Question Number : 170 Question Id : 7532294622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the first vital mathematics skill a child must develop in ECCE?
Options :

1. ¥ Number sense

2. # Addition

3. % Subtraction

4. # Interaction with family members



Question Number : 170 Question Id : 7532294622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o9 T Uge He@yu] T SId § forew! fae 9= § ECCE & SR fahar ST =nfge?
Options :

1. ¢ =T D qH

2. % GRTHAT

3. % YIId hAl

4. % URAR & oI & 1Y FTcdid Bl

Question Number : 171 Question Id : 7532294623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not true ?

Options :

1. ¥ Mapping strengthens spatial thinking.

2. ¥ Mapping promotes proportional reasoning.

3. % Mapping is not a part of Mathematics curriculum.

4. % Mapping can be integrated in may topics of Mathematics.

Question Number : 171 Question Id : 7532294623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafiRad & A o1 91 Y= Id Tel 82

Options :

1. % HHEfEU RIS T &1 qolgd BT g |

2. % HEREU 31U ddb b ggraT a2 |

3. ¢ HFERE TG & UTegsH & e T8l B

4. % AR BT 10T & s 9wl § fid forar S e 8|



Question Number : 172 Question Id : 7532294624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How to teach mathematics to visually challenged children?
Options :

1. ¥ Scaffolding

2. % Allowing children to tell each step loudly.

3. # Allowing children to repeat key steps loudly.

4. % Breaking down the process into simple steps.

Question Number : 172 Question Id : 7532294624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=PI a=a & 0T HY TR ST ANgw?

Options :

1. ¢ BT

2. % S Pl YD IR0 Dl SIR I dId- Dl Hah

3. % g Bl G IR DI WR W GIg Bl AL ThR
4. % QfchdT I TS TRON H ArSH

Question Number : 173 Question Id : 7532294625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nita took out all bugs from the container and sorted bug by their type and then by their colour. What is mathematical concept behind this?
Options :

1. # Exploring the magnitude.

2. ¥ (lassifying

3. # Understanding pattern and shape.

4. ® Exploring spatial relations.

Question Number : 173 Question Id : 7532294625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fra A TF BRI Tt IS BT 3R 37 I7P UBR 3R R I 11 & SHR ST 31T T | S T TR S{GUTRON 3T 82
Options :

1. % GRHT0 BT 3T

2. & TIHROT

3. % Yo 3R MMHR & Y]

4. % RS G oI @il

Question Number : 174 Question Id : 7532294626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct regarding children coming to school from rural areas ?
Options :

1. #® They need not learn formal mathematics as it is of no use to them.

2. ¥ They may have rich oral mathematics traditions and knowledge.

3. # They do not know any mathematics.

4. ® They have poor communication skills in mathematics.

Question Number : 174 Question Id : 7532294626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad & I S 1 Sy UTHr &3 I Hd S aTd S| & Sae H 95t 87

Options :

1. # 3% 3M=nies O TR & aRgdhdl el ¢ i g 31 [l HTH &1 T8l 5|
2. ¢ 3% U TG HIRGe 10T TRURTY 3iR I 81 bl |

3. % Ig 710 T 1 T8I Bl 5 |

4. % JTOTH FHGR B B

Question Number : 175 Question Id : 7532294627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not true:

Options :

1. ® Toys are effective materials for ECCE because they provide entertainment to the children.

2. % Toys are effective materials for ECCE because they enhance cognitive development of the children.
3. # Toys are effective materials for ECCE because they stimulate creativity among children.

4. ¥ Toys are not effective materials for ECCE because they waste time of the children.

Question Number : 175 Question Id : 7532294627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 9 o 91 HYT I8 T8l 82

Options :

1. % AN ECCE & fore gvrd) arsft € i 3 9= &) R UM #Rd & |

2. % AN ECCE & fort gHTdt Inrh) € Fifes 9 s & I3HTes i &) 9e1d B
3. % f¥AM ECCE & fom gurdt Irmh € wifd 3 s=f # TeTdddl &) Miafed &d o
4. ¢ f@AM ECCE & forw gyrdt armft =61 § ifes 3 st o1 9oy 9efe &d B

Question Number : 176 Question Id : 7532294628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sitting in a circle is preferred in ECCE centres because:
Options :

1. # It covers lesser area.

2. ¥ It allows all children to face each other clearly.

3. % It allows all children to interact each other.

4. % Tt allows teachers to interact with children.

Question Number : 176 Question Id : 7532294628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ECCE &&! ¥ Sl & ORT SR 1 Tl Tl 62

Options :



|. % g pH AT AT

2. ¢ g O =1 &) T gER & YA 96 BT TR ST g |
3. % ug gt 9= Y MUY | S1ddd B BT IR edT 8|
4. % g e/l o) s & 1Y ST B BT TR <l g

Question Number : 177 Question Id : 7532294629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indicate which of the following is not true:

Options :

1. #® Free play increases span of attention of the children.

2. # Free play promotes problem solving skill of the children.
3. ¥ Free play promotes dominating behavior of the children.

4. ® Free play increases social intelligence of the children.

Question Number : 177 Question Id : 7532294629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BEINEEE R G RIERE R N E

Options :

1. % - S T AT F&dl g

2. % LT Al & R GHIYH DRI P §GI4T 4l 5
3. ¢ W& g § gTdl 811 9Td SIdgR &l §¢Tal ST 5 |
4. % LW Y = B qHEToS §fG 9ad! 8

Question Number : 178 Question Id : 7532294630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Duration of ECCE program in the centers should be:
Options :

1. # 1-2 hours per day



2. % 2-3 hours per day
3. % 3-4 hours per day
4. # 4-5 hours per day

Question Number : 178 Question Id : 7532294630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5l B ECCE SRIGH T 3afd frait g1+ arfgw?
Options :

1. % giafd 12 6¢

2. % gidfe 2-3 °9¢

3. ¢ gfdfe 3-4 ¢

4. % yfdfad 4-5 9

Question Number : 179 Question Id : 7532294631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following state Mother tongue based Multilingual Education Program was started in 2005?
Options :

1. % West Bengal

2. ¥ QOdisha

3. # Rajasthan

4. ¥ Andhra Pradesh

Question Number : 179 Question Id : 7532294631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o 9 fore Ira &, ArquTST Senid gt fRiem HriswH 2005 T I fooam a1 U1
Options :

1. % OfEH ST

2. 3nfeEn



3. % ORI
4. % YU

Question Number : 180 Question Id : 7532294632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following research type is suitable to find out issues and problems faced in ECCE?
Options :

1. # Longitudinal research

2. % Cross sectional research

3. ¥ Action research

4. % (Co-relational research

Question Number : 180 Question Id : 7532294632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE # 3 aTci Tianaff &) J1d o34 & fog Fgfeiad o @ &9 1 2y Suged g2
Options :

1. % arjeed ergdY™

2. % DY YR ST

3. ¥ HRTED AT

4. % g-GIYRSD THUTH

Discipline5
Group Number : 10
Group Id : 753229234
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 753229234

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229281

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532294633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Crawling for treasure hunt :

Options :

1. ¥ Develops coordination; synchronizes right and left body sides
2. % Develops climbing activity of children

3. # Develops hopping activity of children

4. % Develops jumping activity of children

Question Number : 181 Question Id : 7532294633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ gAY fahRId ST 8; 317 3R 914 IRR & U&ii ol Rishrgel BT
2. % g B ARG Mfafafy o1 fapRid Har g

3. % T Bl I5A-BG AT B [dHRId HRAT g |

4. % g Pt Pe P AR B faHRId HRAT B

Question Number : 182 Question Id : 7532294634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

School readiness for ensuring quality and equity in access to education as well as improving learning outcome. This has dimensions.
Options :

1. # Four

2. ¥ Three

3. % Two

4. % Six

Question Number : 182 Question Id : 7532294634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrefT dep U B uraT 3R FHMAT YR B 3 ry-ary SRen & aRomd B GUR & g woel dardl (SE99) & fhaa smam 8
Options :

1. # dR

2. dF

3. % Q)

4, %G

Question Number : 183 Question Id : 7532294635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
does not indicate child’s emotion.
Options :



1. # Curiosity
2. % Sorrow
3. % Tolerance

4. % Pleasure

Question Number : 183 Question Id : 7532294635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o d @ o O U I B Wi TE 3
Options :

1. % formn

2. % g9

3. ¢ g

4. % 3fHq

Question Number : 184 Question Id : 7532294636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By nature children are

Options :

1. # Constructive

2. % Destructive

3. % Imitative

4. # Demanding

Question Number : 184 Question Id : 7532294636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I WU sl

Options :
1. # JIATHD



2. % [qwgsD
3. ¢ S{IHURI
4. %

Question Number : 185 Question Id : 7532294637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which should be the theme to start with in nursery class?
Options :

1. ¥ The theme of ECCE classes should be my family.

2. % The theme of ECCE classes should be my neighborhood.
3. % The theme of ECCE classes should be my ECCE centre.
4. # The theme of ECCE classes should be my best friend.

Question Number : 185 Question Id : 7532294637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e o fRren 1 esrd &1 fiH Fa1 gt e
Options :

1. ¢ ECCE ®éf3fl &1 favg TR1 gkar giH1 9mfe |

2. % ECCE H&3fl &1 favy TR g g1 =i

3. % ECCE $ef3fl &1 [d%g TRT ECCE &' gIHT A1y

4. % BCCE H&f13{l &1 faug R T 33T qIvdl' g1 Mg |

Question Number : 186 Question Id : 7532294638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following will be effective with reference to the ECCE?

Options :

1. ¥ An ECCE teacher can enhance learning of children by connecting the teaching contents to the lives of learners.

2. % An ECCE teacher can enhance learning of children by motivating the desire to learn.



3. # An ECCE teacher can enhance learning of children by providing incentive for learning to the learners.

4. # An ECCE teacher can enhance learning of children by promoting values and discipline.

Question Number : 186 Question Id : 7532294638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE & JeH #, Fufafaa & @ &1 a1 faeey uyre g

Options :

1. ¢ ECCE fRrefes fRieror arht & Rienffat & Sitaq I Sige: s= & I &) 51 Ihd 5
2. % ECCE e/ I o1 5=51 &1 URa axeb 9= & U ) Sg1 Ihdl g |

3. #® ECCE e/ Rienfiat o) drka & o tidmg= uee e a=df & SHfRTH &) 9g1 JHhdr g |
4. % ECCE f1&/a gl 3R SR &1 §¢Ta1 <hR Il o SR ol 9g1 IHhdT g |

Question Number : 187 Question Id : 7532294639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Can hold pencil could be listed in
Options :

1. ¥ Physical & Motor competencies.

2. ® Cognitive competency

3. # Language competency

4. ® Social and emotional competencies

Question Number : 187 Question Id : 7532294639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRERI IR P emard & 3fad Geileg fbar o Ghar 2|
Options :

1. ¢ RIS 3R HICR Gard

2. % GYMIESD TG

3. % YIS T




4. % TP 3R HIGITHD &HATT

Question Number : 188 Question Id : 7532294640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not true for quality standard as per ECCE policy?
Options :

1. ¥ An ECCE programe of 3-4 hours duration.

2. % Adequately trained ECCE staffs.

3. # Adequately safe and drinking water facility.

4. ¥ Same space allocated for cooking nutritionally balanced meals and nap time for children.

Question Number : 188 Question Id : 7532294640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE fd & 3[R, 7w AF® & foe g & ¥ &1 a1 faded 98t et 22

Options :

1. % 3492 DI A BT ECCE HTAHH|

2. # UgT &9 9§ URIe| ECCE SHaRl |

3. % it QR 3R OF & gt &1 Jfaer|

4.« Oif¥% ¥U I Igferd 1o U™ 3R g & T & o T ®iF sidfed far g

Question Number : 189 Question Id : 7532294641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not true with reference to ECCE planning?

Options :

1. # Providing hand on experience.

2. % Providing enough opportunities to explore.

3. # Introducing concepts gradually from complex to simple.

4. ¥ Planning activities according to the attention span of children.



Question Number : 189 Question Id : 7532294641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HEIND 3IHT Y B

2. % 3T dg & o Ui 3/axR U AT

3. % QYRS DI TR-eR Sfeed I TR DI 3R UJd HAT|
4.« i & S Al & SR TAfaferdt ot IS S

Question Number : 190 Question Id : 7532294642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Indoor materials for creative expressions of ECCE children can be:
Options :

1. # Picture books

2. % Sound boxes

3. % Story cards

4. ¥ Gum and favicol

Question Number : 190 Question Id : 7532294642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE 5= &1 TS ificafad & fore g & T o O U s8R IRl 81 Il 82

Options :




Question Number : 191 Question Id : 7532294643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is adaptation in the context of ECCE?

Options :

1. ¥ Adaptation is planned and intentional changes in the educational components.

2. # Adaptation is planned and unintentional changes in the educational components.
3. # Adaptation is unplanned and intentional changes in the educational components.

4. % Adaptation is unplanned and unintentional changes in the educational components.

Question Number : 191 Question Id : 7532294643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE & "ay §f /g F1 g2

Options :

1. ¢ 3IHA Ao & 3R e ged! § SIHgZdHR URad- [T Sl g |
2. % JIHT AISHIEG § IR D G| § 3o H URac |

3. % 3IHa AMeP Ueh! B I 3R THgHIHR URacH g

4. % 3G QefH geh § Ao 3R 3o # uRad- |

Question Number : 192 Question Id : 7532294644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Decorating doll house is the reflection of:
Options :

1. # Creative thinking

2. ® Creative art

3. % Creative movement

4. ¥ Aesthetic appreciation

Question Number : 192 Question Id : 7532294644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Tolrac fSa1 eR fbg HIgHT &1 ufdfde 82
Options :

1. % IS i

2. % IIATHD Dl

3. % IGTES SGIaH

4. ¢ Tr<TicdS UIaTe

Question Number : 193 Question Id : 7532294645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The three defining features of inclusive ECCE are:
Options :

1. ¥ Access, participation and support

2. % Access, encouragement and support

3. #® Motivation, participation and support

4. ® Access, participation and availability

Question Number : 193 Question Id : 7532294645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHTARN ECCE &t diF Uy faRivame 5 & 4 3= It 62
Options :

1. ¥ Ugd, YR SR 0H

2. % g, Tiared ok 9=

3. % TROM, HAflGRY ofR A

4. % Ugd, UFTGRT iR Juetsud

Question Number : 194 Question Id : 7532294646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following is true:

Options :

1. ¥ Inclusive Education is basic human right.
2. % Inclusive Education is privilege

3. # Inclusive Education is value driven

4. ® Inclusive Education is philosophy

Question Number : 194 Question Id : 7532294646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad & ¥ o9 91 HYT 93 82
Options :

1. ¢ FuTaR fRign gard) ora sfieR 5
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3. % AR e go SmutRd g

4. % goash fRren gz R

Question Number : 195 Question Id : 7532294647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UDL is:

Options :

1. % Universal design for learning

2. ® Unit digital lab

3. # Universal diplomatic relationship

4. ® Unit design for learning

Question Number : 195 Question Id : 7532294647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UDL &1 quiey 31 82

Options :



1. ¥ Universal design for learning (lj\ﬁd{-lrﬂ fSSg BR af)

2. % Unit digital lab (gf1e fSfored da)

3. # Universal diplomatic relationship ({ﬁaﬁ?{ fswmfe® ﬁ@ﬁﬂ:{)
4. % Unit design for learning (Qﬁ? %Trﬂg:f TR ?lﬁq'r[)

Question Number : 196 Question Id : 7532294648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The tern inclusive education appeared in
Options :

1. % 1990s

2. ¥ 1980s

3. % 1970s

4. % 1960s

Question Number : 196 Question Id : 7532294648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT & U ®1 IGd Faud by a8 gaim
Options :

1. % 1990 & GP H

2.+ 1980 & GXH |

3. % 1970 & aRIb H

4. % 1960 & GRTH

Question Number : 197 Question Id : 7532294649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is a true statement?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.

Options :

1. Professional development of parents is the single most important in successful ECCE inclusion.

2. Positive attitude of teachers towards inclusion is the single most important in successful ECCE inclusion.
3. Positive attitude of parents towards inclusion is the single most important in successful ECCE inclusion.
4. Professional development of teachers is single most important in successful ECCE inclusion.

Question Number : 197 Question Id : 7532294649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 7 A B 1 HU I 72
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. ¥ ECCE FHIaRM & ATd-fUd &1 Araeiis [der Jad Agayul ¢ |
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Question Number : 198 Question Id : 7532294650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true?

Options :

1. # Inclusive ECCE is expensive.

2. # Inclusive ECCE is segregated education delivery .

3. % Inclusive ECCE is grouping students with disabilities in a resource room in a regular school

4. ¥ Inclusive ECCE is focuses quality for all.



Question Number : 198 Question Id : 7532294650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gH&RN ECCE HgM 5|
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Question Number : 199 Question Id : 7532294651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is twin-track approach to funding ECCE?

Options :

1. #® Investment in transforming the quality and quantity of ECCE personnel.

2. ¥ Investment in transforming the existing educational system and investing in individualized support .
3. # Investment in transforming the attitude of teachers and investing in attitude of parents.

4. ® Investment in transforming the infrastructure of existing ECCE centre and investing in personal development of ECCE teachers.

Question Number : 199 Question Id : 7532294651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCE & faxqaivo & forg Jedi 39*$ (twin-track approach) BECANK IR,

Options :

1. % ECCE I &1 [0raw 3R AH1 &1 S | e

2. ¢ TIS[aT fR1eM ol &1 seaq SR SAfaaird w9d= § faw

3. % 18T &1 ASRAT FGa SR UGS & FaIRT § FHawr

4. % TISET ECCE %% & g1l &1d &1 gaa 3R ECCE gl & aafdard faswr o faw

Question Number : 200 Question Id : 7532294652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

‘BARAKHA: A Reading Series for All’ is an inclusive learning material published by:
Options :

1. ¥ NCERT

2. % NEUPA

3. ¥ UGC

4. % CONCEPT

Question Number : 200 Question Id : 7532294652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SR (BARAKHA): G4 & o0 U Uo+ Saar, frdds gRT Ueh1iRId U THTa= fRremr arnf g2
Options :

1. ¥ NCERT

2. % NEUPA

3. % UGC

4, % CONCEPT




